

#### See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



#### Form .990-PF ·

#### Return of Private Foundation or Section 4947(a)(1) Trust Treated as Private Foundation

2013

OMB No 1545-0052

Department of the Treasury Internal Revenue Service ► Do not enter Social Security numbers on this form as it may be made public. ► Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

	13, or tax year beginning	, 2013	, and ending	,	• • • • • • • • • • • • • • • • • • • •
	NES CHARITABLE FO		Α	30-0097675	
C/O ROBERT B	ox number if mail is not delivered to sl GREGORY	·	Room/suite PO BOX 760	Telephone number (see the ii (207) 563-810	nstructions)   4
City or town, state or province DAMARISCOTTA	e, country, and ZIP or foreign postal co	ode ME	04543 C	If exemption application is	pending, check here
G Check all that app	ly: Initial return	Initial Return of a form	or public charts	1 Foreign organizations, che	
	Final return Address change	Amended return Name change		2 Foreign organizations mee	
H Check type of o		501(c)(3) exempt private for	undation	here and attach computation	on
	7(a)(1) nonexempt charitable		rivate foundation E	If private foundation status under section 507(b)(1)(A)	was terminated
Fair market value o (from Part II, colum	f all assets at end of year n (c), line 16)	Accounting method: X C	ash Accrual F		Ш
		art I, column (d) must be on o	ash basis)	under section 507(b)(1)(B)	
Expense columns (b	of Revenue and s (The total of amounts in ), (c), and (d) may not neces the amounts in column (a) ctrons).)	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes (cash basis only)
1 Contribute 2 Ck	ons, gifts, grants, etc, received (att sch	·			
3 Interest	If the foundn is <b>not</b> req to att Sch E on savings and temporary			-	
cash in	vestments		77 147,965	•	
5 a Gross r	ents	,	11,7500	•	
or (loss)		52,740.			
E b Gross sale assets on	es price for all 1,496,19	8.			
E 7 Capital ga	in net income (from Part IV, line 2) rt-term capital gain		52,740	•	
<b>≦</b> U 9 Income	modifications				
t allowance	es less d s · · ·				
b Less Cos goods sol	t of				
e Croce pr	ofit/(loss) (att sch)				
11 Other in	icome (attach schedule)	•			· · · · · · · · · · · · · · · · · · ·
	add lines 1 through 11	-,,	200,782	•	
	ation of officers, directors, trustees, etc. ployee salaries and wages	2070001			
15 Pension	n plans, employee benefits				
D b Accounts	s (attach schedule) ng fees (attach sch). L-16b St				
o Other pro	of fees (attach sch) . L-16c St	int. 31,845.	31,845	•	
O i 17 Interest	Sool ino 18	Stmt			
R 19 Deprec	h schedule)(see Instrs) See Line 18 ( lation (attach		918	-	
1 1 22 20	d depletion				
G E 21 Travel,	conferences, and meetings				
N -	and publications xpenses (attach schedule)			RECEIVED	
E	· · · · · · · · · · · · · · · · · · ·			Le l'alle	) S
§ 24 Total o	perating and administratives. Add lines 13 through 23	e 56,339.	32,763	MAY 1 2 ZUT4	88-001
25 Contribu	ions, gifts, grants paid	981.	32,703		981.
26 Total e	xpenses and disbursemenes 24 and 25 · · · · · ·	ts. 57,320.	32,763	OGDEN, U	981.
27 Subtrac	t line 26 from line 12:		327.03		
	of revenue over expenses bursements				
	tment income (if negative, enter -0-)		168,019	•	
	net income (if negative, enter -0-)  Reduction Act Notice, see		1	EA0301 10/18/13	Form <b>990-PF</b> (2013)

Page 2

Part	11 1	Balance Sheets column should be for end-of-year amounts only. (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash — non-interest-bearing	(a) book value	(b) Book Value	(2) i dii ividiket valde
	2	Savings and temporary cash investments	5,642.	205,306.	205 206
	3	Accounts receivable		203,306.	205,306.
		Less: allowance for doubtful accounts			
	4	Pledges receivable			
	7	Less: allowance for doubtful accounts			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			<del></del>
	0	disqualified persons (attach schedule) (see instructions)			
	7	Other notes and loans receivable (attach sch)		***	
A		Less: allowance for doubtful accounts			
S	8	Inventories for sale or use			
A S S E T	9	Prepaid expenses and deferred charges			
s	10 a	Investments – U.S. and state government obligations (attach schedule)			
	b	Investments — corporate stock (attach schedule) . L=10b. Stmt	114,162.	2,850,286.	3,441,799.
		: Investments — corporate bonds (attach schedule) . L=10.c. Stmt	11,507.	814,757.	799,528.
	11	Investments – land, buildings, and		<u> </u>	
		equipment: basis			
		(altach schedule)			
	12	Investments – mortgage loans			
	13	Investments — other (attach schedule)			
	14	Land, buildings, and equipment basis			
		Less accumulated depreciation (attach schedule)			
	15 16	Other assets (describe Total assets (to be completed by all filers —	101 011	0.050.040	
	47	see the instructions. Also, see page 1, item I)	131,311.	3,870,349.	4,446,633.
ī	17	Accounts payable and accrued expenses			
A B	18	Grants payable		<del></del>	
ĭ	19			<del></del>	
Ļ	20	Loans from officers, directors, trustees, & other disqualified persons		··-	
Ť	21	Mortgages and other notes payable (attach schedule)			
E	22	Other liabilities (describe			
Š	23	Total liabilities (add lines 17 through 22)			:
		Foundations that follow SFAS 117, check here and complete lines 24 through 26 and lines 30 and 31.			
NF	24	Unrestricted			
E U	25	Temporanly restricted			
D	26	Permanently restricted		V	
A B S A E A		Foundations that do not follow SFAS 117, check here . Fand complete lines 27 through 31.			
ĒÛ	27	Capital stock, trust principal, or current funds			
SN	28	Paid-in or capital surplus, or land, building, and equipment fund			
С	29	Retained earnings, accumulated income, endowment, or other funds	131,311.	3,870,349.	
O E R S	30	Total net assets or fund balances (see instructions)	131,311.	3,870,349.	
	31	Total liabilities and net assets/fund balances	131,311.		
		(see instructions)	131,311.	3,870,349.	
Par	t III į	Analysis of Changes in Net Assets or Fund Balanc	es	<del></del>	,
1	Total end-	I net assets or fund balances at beginning of year — Part II, column ( of-year figure reported on prior year's return)	(a), line 30 (must agree w	ith 1	131,311.
2	Ente	r amount from Part I, line 27a		2	3,837,934.
3	Other	increases not included in line 2 (itemize)		3	
4	Add	lines 1, 2, and 3	<del></del>	4	3,969,245.
5		eases not included in line 2 (itemize) DIFFERNCE BETWEEN			98,896.
6		net assets or fund balances at end of year (line 4 minus line 5) - P			3,870,349.

2-story brick warehouse	the kind(s) of property sold (e.g., real e; or common stock, 200 shares MLC (	estate, Company)	(b) How acqu P — Purcha D — Donati	ise	(C) Date acquired (month, day, year)	(d) Date sold (month, day, year)
1a F			,	-+	2/31/10	12/31/13
b SEE ATTACHED SCHEDU	II.F.		· •		)2/27/13	12/31/13
CAPITAL GAIN DISTRI			)		2/31/10	12/31/13
d SEE ATTACHED SCHEDU			···-		2/31/10	12/31/13
e	THE ACCI /11/90		· · · · · · · · · · · · · · · · · · ·		12/31/10_	12/21/13
(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or other basis plus expense of sale	5		(h) Gain or (e) plus (f) mir	(loss) nus (g)
<b>a</b> 910.			0.			910.
<b>b</b> 332,343.		325	,715.			6,628.
c 12,029.		<del></del>	0.		<u>-</u>	12,029.
d 1,150,916.		1,117				33,173.
e			,			3372731
Complete only for assets shown	ng gain in column (h) and owned by the	e foundation on 12/31/69			(f) Gains (Col	umn (h)
(i) Fair Market Value as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of column (i over column (j), if any	)		ın minus column (k n -0-) <b>or</b> Losses (fro	), but not less
а						910.
b		**				6,628.
С		-				12,029.
d						33,173.
е						
2 Capital gain net income or (net	capital loss)If gain, also enter	enter in Part I, line 7 er -0- in Part I, line 7		2		52,740.
3 Net short-term capital gain or (lo	oss) as defined in sections 1222(5) and	d (6):				
If gain, also enter in Part I, line &	3, column (c) (see instructions). If (loss	), enter -0-		3		
	r Section 4940(e) for Reduce		ent inco			
(For optional use by domestic private		<del></del>				
	on 4942 tax on the distributable amou	nt ot anv vear in the base be	nod?			
(a) Base period years	y under section 4940(e). Do not comp each column for each year; see the ir (b) Adjusted qualifying distributions	ete this part. Istructions before making an (c) Net value of	y entries.		(d)	X No
(a) Base period years Calendar year (or tax year beginning in)	y under section 4940(e). Do not comp each column for each year; see the in (b) Adjusted qualifying distributions	ete this part.  structions before making and (c) Net value of noncharitable-use asse	y entries.			ratio by column (c))
(a) Base period years Calendar year (or tax year beginning in) 2012	y under section 4940(e). Do not compleach column for each year; see the in Adjusted qualifying distributions	ete this part.  Instructions before making any  (c)  Net value of  noncharitable-use asse	y entries.		(d)	ratio by column (c))
(a) Base period years Calendar year (or tax year beginning in)  2012 2011	y under section 4940(e). Do not comp each column for each year; see the in (b) Adjusted qualifying distributions  0. 14,024.	ete this part.  Instructions before making any (c)  Net value of noncharitable-use asset  174	y entries.		(d)	0 ratio py column (c)) 0 . 000000 0 . 082730
(a) Base period years Calendar year (or tax year beginning in)  2012 2011 2010	y under section 4940(e). Do not comp each column for each year; see the in (b) Adjusted qualifying distributions  0. 14,024. 15,050.	lete this part. Instructions before making any (c) Net value of noncharitable-use asset 174 169	y entries.  4, 617.  7, 515.  7, 808.		(d)	0.000000 0.082730
(a) Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009	y under section 4940(e). Do not complete each column for each year; see the in (b) Adjusted qualifying distributions  0.  14,024.  15,050.  15,969.	lete this part.  Instructions before making any (c) Net value of noncharitable-use asset  174 169 170	y entries.  1, 617. 1, 515. 1, 808. 1, 646.		(d)	0.000000 0.082730 0.088111 0.095826
(a) Base period years Calendar year (or tax year beginning in)  2012 2011 2010	y under section 4940(e). Do not comp each column for each year; see the in (b) Adjusted qualifying distributions  0. 14,024. 15,050.	lete this part.  Instructions before making any (c) Net value of noncharitable-use asset  174 169 170	y entries.  4, 617.  7, 515.  7, 808.		(d)	0.000000 0.082730 0.088111 0.095826
(a) Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009 2008  2 Total of line 1, column (d)	y under section 4940(e). Do not complete each column for each year; see the in (b) Adjusted qualifying distributions  0. 14,024. 15,050. 15,969.	lete this part.  Istructions before making any (c) Net value of noncharitable-use asset  174 169 170 166 212	y entries.  1, 617. 1, 515. 1, 808. 1, 646. 1, 638.		(d)	0.000000 0.082730 0.088111 0.095826 0.075081
(a) Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009 2008  2 Total of line 1, column (d)	y under section 4940(e). Do not complete each column for each year; see the in (b) Adjusted qualifying distributions  0. 14,024. 15,050. 15,969.	lete this part.  Istructions before making any (c) Net value of noncharitable-use asset  174 169 170 166 212	y entries.  1, 617. 1, 515. 1, 808. 1, 646. 1, 638.	(colur	(d)	0.000000 0.082730 0.095826 0.075081 0.341748
Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009 2008  2 Total of line 1, column (d) 3 Average distribution ratio for the number of years the foundation	y under section 4940(e). Do not complete each column for each year; see the in (b) Adjusted qualifying distributions  0. 14,024. 15,050. 15,969.	ete this part.  Instructions before making any  (c)  Net value of noncharitable-use asset  174  169  170  166  212  on line 2 by 5, or by the ears	y entries.  4,617.  4,515.  808.  6,646.  6,638.	(colur	(d) Distribution mn (b) divided b	0.000000 0.082730 0.088111 0.095826 0.075081 0.341748 0.068350
Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009 2008  2 Total of line 1, column (d)  3 Average distribution ratio for the number of years the foundation  4 Enter the net value of noncharit	y under section 4940(e). Do not complete ach column for each year; see the in (b)  Adjusted qualifying distributions  0.  14,024.  15,050.  15,969.  15,965.	ete this part.  Structions before making any (c)  Net value of noncharitable-use assess 174  169  170  166  212  on line 2 by 5, or by the ears	y entries.  1,617. 1,515. 1,808. 1,646. 1,638.	(colur	(d) Distribution mn (b) divided b	0.000000 0.082730 0.088111 0.095826 0.075081 0.341748 0.068350
Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009 2008  2 Total of line 1, column (d)  3 Average distribution ratio for the number of years the foundation  4 Enter the net value of noncharit  5 Multiply line 4 by line 3	y under section 4940(e). Do not complete ach column for each year; see the in (b)  Adjusted qualifying distributions  0.  14,024.  15,050.  15,969.  15,965.	lete this part.  Instructions before making any (c)  Net value of noncharitable-use asses 174 169 170 166 212  on line 2 by 5, or by the ears	y entries.  , 617. , 515. , 808. , 646. , 638.	(colur	(d) Distribution mn (b) divided b	0.000000 0.082730 0.088111 0.095826 0.075081 0.341748 0.068350 3,737,812.
Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009 2008  2 Total of line 1, column (d) 3 Average distribution ratio for the number of years the foundation  4 Enter the net value of noncharit 5 Multiply line 4 by line 3 6 Enter 1% of net investment income	y under section 4940(e). Do not complete ach column for each year; see the in (b)  Adjusted qualifying distributions  0.  14,024.  15,050.  15,969.  15,965.  25-year base period — divide the total has been in existence if less than 5 years.	lete this part.  Instructions before making any (c) Net value of noncharitable-use asset  174 169 170 166 212  on line 2 by 5, or by the ears	y entries.  1, 617. 1, 515. 1, 808. 1, 646. 1, 638.	2 3 4 5	(d) Distribution mn (b) divided b	0.000000 0.000000 0.082730 0.088111 0.095826 0.075081 0.341748 0.068350 3,737,812. 255,479.
Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009 2008  2 Total of line 1, column (d) 3 Average distribution ratio for the number of years the foundation  4 Enter the net value of noncharit 5 Multiply line 4 by line 3 6 Enter 1% of net investment inco 7 Add lines 5 and 6	y under section 4940(e). Do not complete ach column for each year; see the in (b)  Adjusted qualifying distributions  0.  14,024.  15,050.  15,969.  15,965.  25-year base period — divide the total has been in existence if less than 5 years.  able-use assets for 2013 from Part X,	ete this part.  Structions before making any (c)  Net value of noncharitable-use assess 174  169  170  166  212  on line 2 by 5, or by the ears	y entries.  1,617. 1,515. 1,808. 1,646. 1,638.	(colur 2 3 4 5 6	(d) Distribution mn (b) divided b	ratio
Base period years Calendar year (or tax year beginning in)  2012 2011 2010 2009 2008  2 Total of line 1, column (d) 3 Average distribution ratio for the number of years the foundation  4 Enter the net value of noncharit 5 Multiply line 4 by line 3 6 Enter 1% of net investment inco 7 Add lines 5 and 6	y under section 4940(e). Do not complete ach column for each year; see the in (b) Adjusted qualifying distributions  0. 14,024. 15,050. 15,969. 15,965.  25-year base period — divide the total has been in existence if less than 5 years.  able-use assets for 2013 from Part X,  ome (1% of Part I, line 27b)	lete this part.  Instructions before making any (c) Net value of noncharitable-use asset  174 169 170 166 212  on line 2 by 5, or by the ears	y entries.  1, 617.  1, 515.  1, 808.  1, 646.  1, 638.	2 3 4 5 6 7	(d) Distribution mn (b) divided b	0.000000 0.000000 0.082730 0.088111 0.095826 0.075081 0.341748 0.068350 3,737,812. 255,479. 1,680. 257,159.

<u> Pa</u>	ít VU	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 — see instructions	5)		
1 a	Exempt of	perating foundations described in section 4940(d)(2), check here b and enter 'N/A' on line 1			
	Date of n	uling or determination letter (attach copy of letter if necessary — see instrs)			
t	Domest	tic foundations that meet the section 4940(e) requirements in Part V,		3,3	60.
	check h	ere . Fand enter 1% of Part I, line 27b			
(	All other	domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of Part I, line 12, column (b)			
2	foundat	der section 511 (domestic section 4947(a)(1) trusts and taxable ions only. Others enter -0-)			0.
3		es 1 and 2		3,3	60.
4		A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) 4			0.
5	Tax ba	sed on investment income. Subtract line 4 from line 3. If zero or less, enter -0		3,3	60.
6		Payments:			
		mated tax pmts and 2012 overpayment credited to 2013			
1	b Exempt	foreign organizations — tax withheld at source 6 b			
	•	d with application for extension of time to file (Form 8868) 6 c			
•		withholding erroneously withheld			
7		edits and payments. Add lines 6a through 6d			23.
8	Enter a	ny <b>penalty</b> for underpayment of estimated tax. Check here If Form 2220 is attached			
9	Tax due.	If the total of lines 5 and 8 is more than line 7, enter amount owed		3,3	37.
10	Overpay	ment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid			0.
11		amount of line 10 to be Credited to 2014 estimated tax Refunded 11			
Pa		Statements Regarding Activities			
1 a	During	the tax year, did the foundation attempt to influence any national, state, or local legislation or did it ate or intervene in any political campaign?	1 a	Yes	No X
	•	· · · · · · · · · · · · · · · · · · ·			
1	b Did it sp see the	pend more than \$100 during the year (either directly or indirectly) for political purposes e instructions for definition)?	1 b		Х
	or distri	nswer is 'Yes' to 1a or 1b, attach a detailed description of the activities and copies of any materials published buted by the foundation in connection with the activities.			
		foundation file Form 1120-POL for this year?	1 c		_X
•		ne amount (if any) of tax on political expenditures (section 4955) imposed during the year: the foundation ▶ \$ (2) On foundation managers ▶ \$			
		ne reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on			
		cion managers · · · · ► \$			
2	Has the	foundation engaged in any activities that have not previously been reported to the IRS?	2		X
	If 'Yes,'	attach a detailed description of the activities.			
3	Has the	e foundation made any changes, not previously reported to the IRS, in its governing instrument, articles poration, or bylaws, or other similar instruments? If 'Yes,' attach a conformed copy of the changes	3		Х
4 :		foundation have unrelated business gross income of \$1,000 or more during the year?	4 a		X
ı	b If 'Yes,'	has it filed a tax return on Form 990-T for this year?	4 b		X
5	Was ther	e a liquidation, termination, dissolution, or substantial contraction during the year?	5		X
	If 'Yes,	attach the statement required by General Instruction T			
6	Are the	requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:	İ		
	By la	nguage in the governing instrument, or			
	• Ry et	ate legislation that effectively amends the governing instrument so that no mandatory directions that conflict		İ	
_	with t	he state law remain in the governing instrument?	6	Х	
		pundation have at least \$5,000 in assets at any time during the year? If 'Yes,' complete Part II, column (c), and Part XV	7	Х	
8		ne states to which the foundation reports or with which it is registered (see instructions)			
		Maine			
l	b If the and or desig)	swer is 'Yes' to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General nate) of each state as required by General Instruction G? If 'No,' attach explanation	8 b	Х	
9	Is the for cale	oundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) and ar year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If 'Yes,' complete Part XIV	9		X
10	Did any	persons become substantial contributors during the tax year? If 'Yes,' attach a schedule listing their names dresses	10		v

BAA	Fo	rm 990-P	F (2
	b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2013?	4 b	
4 8	a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4 a	Į.
	(3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2013.)	3 b	
t	o If 'Yes,' did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or		
	a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time during the year?		
	20,20,20,20		
C	of the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.		
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer 'No' and attach statement — see instructions.)	2 b	
	if 'Yes,' list the years 20, 20, 20, 20  Are there any years listed in 2a for which the foundation is <b>not</b> applying the provisions of section 4942(a)(2)	1	
a	At the end of tax year 2013, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2013?		
	private operating foundation defined in section 4942(j)(3) or 4942(j)(5)):		
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a		
C	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2013?	1 c	
	Organizations relying on a current notice regarding disaster assistance check here		
t	If any answer is Yes' to 1a(1)-(6), did <b>any</b> of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1 b	
	foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.)		

Form 990-PF (2013) THE RUTH J JONES C			30-00	97675 Page <b>6</b>
Part VII-B Statements Regarding Activiti	es for Which Form	4720 May Be Req	uired (continued)	
5 a During the year did the foundation pay or incur a	•			
(1) Carry on propaganda, or otherwise attempt to	•		···· Yes X	No
<ul> <li>(2) Influence the outcome of any specific public on, directly or indirectly, any voter registration</li> <li>(3) Provide a grant to an individual for travel, stu</li> </ul>	n drive?			No No
(4) Provide a grant to an organization other than in section 509(a)(1), (2), or (3), or section 494	a chantable, etc. organiz	zation described		No
(5) Provide for any purpose other than religious, educational purposes, or for the prevention of	charitable, scientific, lite	rary, or		No
b If any answer is 'Yes' to 5a(1)-(5), did any of the described in Regulations section 53.4945 or in a (see instructions)?	current notice regarding	disaster assistance		5 b
Organizations relying on a current notice regarding				
c If the answer is 'Yes' to question 5a(4), does the tax because it maintained expenditure responsib	lity for the grant?		· · · · · Yes	No
If 'Yes,' attach the statement required by Regulat	ions section 53.4945-5(a	).		
6 a Did the foundation, during the year, receive any f on a personal benefit contract?				No and and and
b Did the foundation, during the year, pay premium If 'Yes' to 6b, file Form 8870.	is, directly or indirectly, o	n a personal benefit con	tract?	6b X
7 a At any time during the tax year, was the foundation	on a party to a prohibited	tax shelter transaction?	Tyes Tx	No de la la la la la la la la la la la la la
b If 'Yes,' did the foundation receive any proceeds				
Part VIII Information About Officers, D	-			
and Contractors		·		
1 List all officers, directors, trustees, foundatio	n managers and their c	ompensation (see insti	ructions).	
(a) Name and address	(b) Title, and average hours per week devoted to position	(c)Compensation (If not paid, enter -0-)	(d)Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
ROBERT B GREGORY				
PO BOX 760 DAMARISCOTTA, ME 04543	TRUSTEE 2.00	23,035.	0.	0.
2 Compensation of five highest-paid employee	s (other than those inc	luded on line 1 – see ir	structions). If none. e	enter 'NONE.'
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week devoted to position	(c) Compensation	(d)Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
NONE				
			<del></del>	
				-
		<u></u>		
				<del> </del>
Total number of other employees paid over \$50,000.			<u> </u> 	None
BAA	TEEA0306 07			None Form <b>990-PF</b> (2013)

Form 990-PF (2013) THE RUTH J JONES CHARITABLE FOUNDATION 30-	0097675 Page <b>7</b>
Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highly Paland Contractors (continued)	id Employees,
3 Five highest-paid independent contractors for professional services (see instructions). If none, enter 'NONE.'	
(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
NONE	
	:
Total number of others receiving over \$50,000 for professional services	. None
Part IX-A: Summary of Direct Charitable Activities	
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.	Expenses
1	
2	
3	
4	
Part IX-B: Summary of Program-Related Investments (see instructions)	
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.	Amount
1	
2	
All other program-related investments. See instructions.	
3	

Form **990-PF** (2013)

BAA

qualifies for the section 4940(e) reduction of tax in those years.

Page 8

see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc, purposes 1 a a Average monthly fair market value of securities . . . . . . . 3,712,125. 1 b 82,608. **b** Average of monthly cash balances . . . . . . . 1 c c Fair market value of all other assets (see instructions) . . . . . 0. 1 d 3,794 733 e Reduction claimed for blockage or other factors reported on lines 1a and 1c Acquisition indebtedness applicable to line 1 assets . . . . . . . . 2 3 3,794,733. Cash deemed held for charitable activities. Enter 1-1/2% of line 3 4 56,921. Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4 5 3,737,812. 6 186,891 Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here  $\triangleright$ and do not complete this part.) 1 186,891 2 a Tax on investment income for 2013 from Part VI, line 5 . . . . . . b Income tax for 2013. (This does not include the tax from Part VI.) . . 2 b 2 c 3,360. 3 Distributable amount before adjustments. Subtract line 2c from line 1. 183,531. 4 Recoveries of amounts treated as qualifying distributions . . . . . 5 183,531 Deduction from distributable amount (see instructions) . . . . . . . 6 Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1 . . . . . . . 183,531 Part XIII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes: a Expenses, contributions, gifts, etc - total from Part I, column (d), line 26 . . . . . 1 a 981. 1 b Amounts paid to acquire assets used (or held for use) directly in carrying out chantable, etc, purposes 2 3 a 3 b Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4. 4 981 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income. 5 0. 6 981. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation

Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations,

BAA

#### Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2012	(c) 2012	(d) 2013
Distributable amount for 2013 from Part XI, line 7				102 521
2 Undistributed income, if any, as of the end of 2013				183,531.
a Enter amount for 2012 only		<u> </u>	0.	
<b>b</b> Total for prior years 20, 20, 20				
3 Excess distributions carryover, if any, to 2013				-
<b>a</b> From 2008 0 . <b>b</b> From 2009 0 .				
c From 2010 5,343.				
d From 2011 14,050.				
e From 2012 0 .				
f Total of lines 3a through e	19,393.			
4 Qualifying distributions for 2013 from Part	19,393.			
XII, line 4: ► \$ 981.				
a Applied to 2012, but not more than line 2a		-		
<b>b</b> Applied to undistributed income of prior years (Election required — see instructions)				
c Treated as distributions out of corpus (Election required — see instructions)				
d Applied to 2013 distributable amount				
e Remaining amount distributed out of corpus	981.			
<b>5</b> Excess distributions carryover applied to 2013	20,374.			20,374.
(If an amount appears in column (d), the same amount must be shown in column (a) )				
(-, /				
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e. Subtract line 5	0.			
b Pnor years' undistributed income. Subtract line 4b from line 2b · · · · · · · · · · · · · · · · · ·		0.		
c Enter the amount of prior years' undistribut-				
ed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed				
d Subtract line 6c from line 6b. Taxable amount — see instructions		0.		
		0.		
e Undistributed income for 2012 Subtract line 4a from line 2a. Taxable amount — see instructions			0.	
inc 2d. Taxable arrount See instructions.				
f Undistributed income for 2013. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2014				163,157.
7 Amounts treated as distributions out of				103,137.
corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (see instructions)				
8 Excess distributions carryover from 2008 not applied on line 5 or line 7 (see instructions)	0.			
9 Excess distributions carryover to 2014.	Ŭ.			
Subtract lines 7 and 8 from line 6a	0.			
10 Analysis of line 9:				
a Excess from 2009 0.			:	
<b>b</b> Excess from 2010 0 .				
<b>c</b> Excess from 2011 0.				
<b>d</b> Excess from 2012 0 .				
e Excess from 2013 0 .				

Form 990-PF (2013) THE RUTH J JONES	CHARITABLE	FOUNDATION		30-0097675	Page <b>10</b>
Part XIV Private Operating Foundati	<del></del>		<del></del>	<del></del>	N/A
1 a If the foundation has received a ruling or dete is effective for 2013, enter the date of the rulin	ng			<u></u> • [	
b Check box to indicate whether the foundation	<del>`</del>	ng foundation descri		4942(j)(3) or	4942(j)(5)
2 a Enter the lesser of the adjusted net income from Part I or the minimum	Tax year	<u> </u>	Pnor 3 years	<del></del> -	
investment return from Part X for each year listed	(a) 2013	<b>(b)</b> 2012	(c) 2011	(d) 2010	(e) Total
<b>b</b> 85% of line 2a					
c Qualifying distributions from Part XII, line 4 for each year listed	·-·				
d Amounts included in line 2c not used directly for active conduct of exempt activities					
Qualifying distributions made directly for active conduct of exempt activities. Subtract line 2d from line 2c					
3 Complete 3a, b, or c for the alternative test relied upon:					
a 'Assets' alternative test — enter:					
(1) Value of all assets	<del></del>				
(2) Value of assets qualifying under section 4942(j)(3)(B)(i)				,	
b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c 'Support' alternative test – enter:					
(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)					
(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from an exempt organization					
(4) Gross investment income					
Supplementary Information assets at any time during the	(Complete this	part only if the	foundation had	d \$5,000 or more	in
1 Information Regarding Foundation Manag	_ <b></b>	istructions.j			<del>- ·</del>
a List any managers of the foundation who have close of any tax year (but only if they have co	e contributed more	than 2% of the total n \$5,000). (See section	contributions receive on 507(d)(2).)	ed by the foundation b	efore the
RUTH J JONES					
ESTATE OF RUTH J JONES  b List any managers of the foundation who owr	400/	t			
a partnership or other entity) of which the fou	ndation has a 10%	or greater interest	ion (or an equally lai	ge portion of the own	ersnip of
2 Information Regarding Contribution, Gran Check here X if the foundation only ma requests for funds. If the foundation makes gi complete items 2a, b, c, and d.	kes contributions to	preselected charital	ole organizations and	d does not accept uns	olicited ions,
a The name, address, and telephone number of	r e-mail of the pers	on to whom applicati	ons should be addre	essed:	
			······································		
<b>b</b> The form in which applications should be sub	mitted and informa	tion and materials the	ey should include:		
c Any submission deadlines:	·				
d Any restrictions or limitations on awards, such	h as by geographic	al areas, chantable fi	elds, kinds of institut	tions, or other factors:	
			<u>.</u>		
BAA	TE	EA0310 07/10/13		F	orm <b>990-PF</b> (2013)

TEEA0310 07/10/13

Form 990-PF (2013)

Part XV Supplementary Information (continued) 3 Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, show any relationship to any foundation manager or substantial contributor oundation Recipient Purpose of grant or contribution status of **Amount** recipient Name and address (home or business) a Paid during the year BOWDOIN COLLEGE 4100 COLLGE STATION ME 04011 PUBLIC UNRESTRICTED 981. BRUNSWICK 981. b Approved for future payment

3 b

#### Part XVI-A Analysis of Income-Producing Activities

Enter gross amounts unless otherwise indicated.		Unrelate	ed business income	Excluded by	section 512, 513, or 514	(e)		
Program service revenue:     a		(a) Business code	<b>(b)</b> Amount	(c) Exclu- sion	(d) Amount	Related or exempt function income (See instructions.)		
•	am service revenue:			code		<del></del>		
				-				
				<del>                                     </del>				
с								
Ğ				<del>                                     </del>		<del></del>		
· -				<del>  -   -</del>				
a Fees	and contracts from government agencies							
	pership dues and assessments			<u> </u>		<del></del>		
	t on savings and temporary cash investments	-		14	77.	<u></u>		
	ends and interest from securities			14	147,965.			
5 Net re	ental income or (loss) from real estate							
a Debt-	financed property							
<b>b</b> Not d	ebt-financed property							
6 Net rer	ntal income or (loss) from personal property							
7 Other	investment income							
	r (loss) from sales of assets other than inventory		_	18	52,740.	<u></u>		
	ncome or (loss) from special events			<u> </u>				
10 Gross	s profit or (loss) from sales of inventory							
11 Other	revenue			<u> </u>				
a				<del>                                     </del>				
b				<del>  </del>		<del> </del>		
°.—		<u> </u>		+	-	<del>.</del>		
d				1				
42 Cubta	otal. Add columns (b), (d), and (e)			<del>                                     </del>	200 702	<del></del>		
12 Subit	otal. Add columns (b), (d), and (e)	Ĺ		<u> </u>	200,782.	200,782.		
	heet in line 13 instructions to verify calculations					200,782.		
	· · · · · · · · · · · · · · · · · · ·	<del></del>						
Part XVI	<u>-B</u> Relationship of Activities to the	Accomp	lishment of Exem	pt Purpo	ses			
Line No.	Explain below how each activity for which inco	ome is report	ted in column (e) of Part	XVI-A conti	nbuted importantly to t	he		
· · · · · · · · · · · · · · · · · · ·	accomplishment of the loandation's exempt p			us 101 such				
	-							
					· · · · · · · · · · · · · · · · · · ·			
	-							
						<del></del>		
<u>.</u>						<u>.</u>		
						<del></del>		
			····			·		
						<del></del>		
				<del></del>				
-								

Part XXVIII	Information Regarding	Transfers To and	Transactions and	l Relationships	With Noncharitable
<u> </u>	<b>Exempt Organizations</b>				

de rel a Tra (1) (2) b Ott (1) (2) (3) (4) (5) (6) c Sh	scribed ating to ansfers Cash Other trar Sales Purch Renta Reim Loans Perfo	ganization directly in section 501(c) of political organization from the reporting sections: It is of assets to a normal asset of assets from the sections or loan guaranteer mance of services of facilities, equipment of the asset of any of the asset of any of the assets, or section 501(c)	of the Code (other cions? I foundation to a line control of the code I foundation to a line code I foundation to a	pt organice exemplessets or fundrate other as	ection 501 table exer  ization ot organization aising solutions sets, or proper followir	mpt organ	ganization of the control of the column of t	of.     mn (b) sh	section 527,	ow the fair r	narket value	1 a (1) 1 a (2) 1 b (1) 1 b (2) 1 b (3) 1 b (4) 1 b (5) 1 b (6) 1 c alue of	Yes	X X X X X X X X X X X X X X X X X X X
an	y trans	action or sharing a	ırrangement, sho	w in colu	ımn (d) th	e value o	f the goo	ds, other	r assets, or serv	rices receive	ed.			
(a) Line	no	(b) Amount involved	(c) Name	of nonchar	itable exem	npt organiza	tion	(d) i	Description of trans	fers, transaction	ons, and sl	haring arran	gements	<u>.                                    </u>
	_			<u></u>	<del></del> <del></del>									
	_	<del></del>											-	
	_													
		_												
		<del>_</del>	<u> </u>											
		-												
d€	escribed	indation directly or d in section 501(c) omplete the follow	of the Code (oth	ed with, c er than s	or related section 50	to, one oi 11(c)(3)) o	r more ta r in sect	x-exemp ion 527?	t organizations			. Yes	s X	No
	(a)	Name of organiza	tion		(b) Type	of organ	ization		(c	) Description	of relati	ionship		
											·			
					·									
	Under pe	enalties of perjury, I decl and complete. Declaration	are that I have examin	ed this retu	m, including	accompany	ng schedul	es and state	ments, and to the be	st of my knowle	dge and be	elief, it is true,		
Sign	correct, a	and complete. Declaration	on of preparer (owner to	) A Paye	/ vaseu o	, <b>/</b>	7/14	<b>f</b> - <b>b</b>				May the this retui	m with th	e i
Here	Signal	ture of officer or trustee				Date	* *	$\frac{1}{\text{Trt}}$	RUSTEE le			_ (see inst	ructions)	ا <u>ئ</u>
	Signal	Print/Type prepareds i	tame		Preparer's s				Date	Chart	، ای	PTIN	165	No
		[ , // ',	<b>l</b> 1 /	. 7.	120		M		4-30-1	Check	X if		ዕለፍላ	
Paid			chelder, CP		1 - 10/		~ ~ ~			y sen-empir	<u> -                                     </u>	P0122	<i>3</i> 032	
Prepa		Firm's name	Bruce A.		ıαer,	CPA				Firm's EIN	01-0	519493		
Use C	nly	Firm's address	PO Box 14					m 0.44	7.4.2		1007	\ E < 2	7510	,
BAA		<u> </u>	Damarisco	tta				IE 045	043	Phone no.	(20/	) 563-		_
												COULT 44		Z11131

#### Schedule B

(Form 990, 990-EZ, or 990-PF)

**Schedule of Contributors** 

OMB No 1545-0047

Employer Identification number

2013

Department of the Treasury Internal Revenue Service ► Attach to Form 990, Form 990-EZ, or Form 990-PF

Information about Schedule B (Form 990, 990-EZ, 990-PF) and its instructions is at www.irs.gov/form990.

THE RUTH J JONES CHARITABLE FOUNDATION 30-0097675 Organization type (check one): Section: Filers of: Form 990 or 990-EZ 501(c)( ) (enter number) organization 4947(a)(1) nonexempt chantable trust not treated as a private foundation 527 political organization Form 990-PF X 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation Check if your organization is covered by the General Rule or a Special Rule Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions. General Rule To provide the contraction filing Form 990, 990-EZ, or 990-PF that received, during the year, \$5,000 or more (in money or property) from any one contributor. (Complete Parts I and II.) Special Rules For a section 501(c)(3) organization filing Form 990 or 990-EZ that met the 33-1/3% support test of the regulations under sections 509(a)(1) and 170(b)(1)(A)(vi) and received from any one contributor, during the year, a contribution of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line 1. Complete Parts I and II. For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, total contributions of more than \$1,000 for use exclusively for religious, charitable, scientific, literary, or educational purposes, or the prevention of cruelty to children or animals. Complete Parts I, II, and III. For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions for use exclusively for religious, charitable, etc., purposes, but these contributions did not total to more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc. purpose. Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively Caution: An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF) but it must answer 'No' on Part IV, line 2, of its Form 990; or check the box on line H of its Form 990-EZ or on its Form 990-PF, Part I, line 2, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

BAA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990EZ, or 990-PF.

Schedule **B** (Form 990, 990-EZ, or 990-PF) (2013)

Schedule F	R /Form	ggn	990-F7	or 990-PF	\ (2013)
Scriedule E		, טפפ	33U-LZ,	01 330-11	) (ZU 13)

Page

1 of

1 of Part 1

Name of organization, THE RUTH J JONES CHARITABLE FOUNDATION Employer Identification number 30-0097675

Part I Contributors (see instructions). Use duplicate copies of Part I if additional space is needed
--

(a) Number	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	RUTH J JONES ESTATE  ROBERT B GREGORY PR PO BOX 760  DAMARISCOTTA ME 04543	\$4 <u>05</u> 005.	Person X  Payroll   Noncash   (Complete Part II for noncash contributions.)
(a) Number	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
2	RUTH J JONES ESTATE  ROBERT B GREGORY PR PO BOX 760  DAMARISCOTTA ME 04543	\$3,289,467.	Person Payroll Noncash X (Complete Part II for noncash contributions.)
(a) Number	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Complete Part II for noncash contributions.)
(a) Number	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Complete Part II for noncash contributions.)
(a) Number	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		-  \$	Person Payroll Oncash Complete Part II for noncash contributions.)
(a) Number	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
 RAA	TEFA0702 12/27/13	\$ Cabadula B (Farm 000	Person Payroll Noncash (Complete Part II for noncash contributions.)

Page

1 to

1 of Part II

Name of organization,

THE RUTH J JONES CHARITABLE FOUNDATION

Employer identification number 30-0097675

Part II If additional space is needed.

(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
2	PORTFOLIO OF 55 PUBLICLY TRADED MARKETABLE SECURITIES - REMAINDER OF ESTATE SEE ATTACHED SCHEDULE	\$ 3,289,467.	02/13/13
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$ 	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		- - -  \$	
BAA	Caba	  dule <b>B</b> (Form 990, 990-EZ,	os 000 DE) (2012)

BAA

Schedule B (Form 990, 990-EZ, or 990-PF) (2013)

The Ruth Jones Charitable Foundation El#30-0097675 . . Schedule B, Part II - Non Cash Property

Quantity	<u>Security</u>	Per Unit Basis	Cost Basıs	Per Unit <u>Value</u>	Fair Market Value
<u> </u>	<u> </u>	<u></u>			
	AGIC Equity & Convertable Income Fund	16 7900	41,975 00	17 91	44,775 00
	Apple Inc	514 955	90,117 13	467 90	81,882 50
	Blackrock Enhanced Equity Divident Trust	7 14	57,098 58	7 84	62,696 48
	Bar Harbor Bankshares	33 545 67 16	60,381 00 83,950 00	35 14 68 68	63,252 00 85,850 00
	Baxter International	48 64	15,224 32	51 17	16,016 21
	CVS Caremark Chevron	109 43	76,601 00	116 50	81,550 00
	Carefusion	28 805	3,341 38	32 43	3,761 88
_	Cardinal Health	42 02	9,748 64	45 54	10,565 28
	Coca Cola	36 86	45,706 40	37 56	46,574 40
	Colgate Palmolive	105 46	52,730 00	108 05	54,025 00
	Duff & Phelps Global Utility	17 045	68,180 00	18 99	75,960 00
	Duke Energy	64 985	43,280 01	69 50	46,287 00
	Direct TV	50.415	201 66	52 23	208 92
10632 299	Dreyfus GNMA Fund	15 64	166,289 16	15 54	165,225 93
250	Edwards Life Science	92 295	23,073 75	87 42	21,855 00
80	Exelis	11 52	921 60	11 25	900 00
5000	First Bancorp	16 255	81,275 00	17 29	86,450 00
	Google	714.67	53,600 25	780 70	58,552 50
	General Motors	26 96	26,960 00	28 55	28,550 00
	Hartford Financial Services	22 38	1,790 40	24 40	1,952 00
	Ishares Russell 2000	83 635	58,544 50	91 10	63,770 00
	Ishares MSCI EAFE	56 29 7.45	78,806 00	58 76	82,264 00
	Henderson Global Equity Income	7 45	55,087 32	7 70	56,935 89
	ITT Corp	22 77 73 41	910 80 36,705 00	26 09 80 77	1,043 60 40,385 00
	Hershey	12 6	136,464 82	12 66	137,114 65
	Loomis Sales Inv Gr Bond	11 03	45,946 40	11 92	49,653 78
	Madison Strategic Sector Premium Nisource	24 92	14,952 00	27 03	16,218 00
	Pfizer	25 285	263,975 40	26 99	281,775 60
	Regions Financail	7 1	24,850 00	7 93	27,755 00
	RS Inv Tr Emerging Mkts	23 32	23,379 00	23 87	23,930 39
	State Street	46 02	46,020 00	56 93	56,930 00
	Sector SPDR Technology	28 855	95,221 50	29 89	98,637 00
344	Southern Company	43 225	14,869 40	44 16	15,191 04
1000	Suntrust Banks	28 405	28,405 00	29 42	29,420 00
350	United Parcel	74 665	26,132 75	82 31	28,808 50
	Walmart	68 715	2,061 45	71 40	2,142 00
	Whole Foods	90 805	68,103 75	96 11	72,082 50
	Xylem	26 515	2,121 20	27 92	2,236 00
	GE Money Bak Draper Utah 1.7%	104 779	104,779 00	101 549	101,549 00
	CIT BK Salt Lake City Utah 1.65%	100 074	100,074 00	102 911	102,911 00
	Capital One Bk Glen Allen VA 4 55%	101 4864 101 6973	101,486 40 101,697 30	100 921 101 146	100,921 00 101,146 00
	Capmark Bk Midvale UT 4 5%	101 4885	60,893 10	101 148	60,664 80
	CIT BK Salt Lake City Utah 3 25% BMW BK North American Salt Lake 6 55%	103 8985	31,169 55	103 598	31,079 40
	Barclay BK Del Retail 3.15%	103 772	51,886 00	103 689	51,844 50
	First Business Bk Madison WI 2 5%	103 0846	77,313 45	102 949	77,211 75
	Barclay BK Del Retail 2 65%	103 6596	51,829 80	103 943	51,971 50
	GE Money Bak Draper Utah 3.0%	106 0331	79,524 83	106 488	79,866 00
	Doral Bk Cataon PR 2 7%	103 8685	103,868 50	104 223	104,223 00
	GE Cap Finl 2.15%	101 6019	50,800 95	102 664	51,332 00
	Goldman Sachs 1 3%	100 1495	100,149 50	100 324	100,324 00
	Discover Bk 1 3%	100 043	100,043 00	100 801	100,801 00
500	Discover Bk 1.25%	100 1082	50,054 10	100 878	50,439 00

Form 990-PF, Page 1, Part I, Line 18 Line 18 Stmt

Taxes	Rev/Exp Book	Net Inv Inc	Adj Net Inc	Charity Disb
990 PF	41.			
FOREIGN	918.	918.		

Total 959. 918.

Form 990-PF, Page 1, Part I Line 16b - Accounting Fees

Name of Provider	Type of Service Provided	Amount Paid Per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
BRUCE A BACHELDER CPA	ACCOUNTING	500.			

Total \_\_\_\_\_\_500.

Form 990-PF, Page 1, Part I

Line 16c - Other Professional Fees

Name of Provider	Type of Service Provided	Amount Paid Per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
RBC	INVESTMENT COUNSEL	31,845.	31,845.		

Total 31,845. 31,845.

Form 990-PF, Page 2, Part II, Line 10b L-10b Stmt

	End of	f <b>Year</b>
Line 10b - Investments - Corporate Stock:	Book Value	Fair Market Value
SEE ATTACHED SCHEDULE - RBC ACCOUNT 01500 US EQUITIES	634,476.	788,977.
SEE ATTACHED SCHEDULE - RBC ACCOUNT 01500 INTL EQUITIES	525,582.	587,331.
SEE ATTACHED SCHEDULE - RBC ACCOUNT 71790 US EQUITIES	1,457,579.	1,820,577.
SEE ATTACHED SCHEDULE - RBC ACCOUNT 71790 INTL EQUITIES	232,649.	244,914.

Total <u>2,850,286.</u> <u>3,441,799.</u>

Form 990-PF, Page 2, Part II, Line 10c L- 10c Stmt

	End of	Year
Line 10c - Investments - Corporate Bonds:	Book Value	Fair Market Value
SEE ATTACHED SCHEDULE - RBC ACCOUNT 01500 FIXED INCOME	9,529.	8,305.
SEE ATTACHED SCHEDULE - RBC ACCOUNT 71790 FIXED INCOME	729,018.	715,638.

30-0097675

2

Form 990-PF, Page 2, Part II, Line 10c L- 10c Stmt

Continued

	End of	Year
Line 10c - Investments - Corporate Bonds:	Book Value	Fair Market Value
SEE ATTACHED SCHEDULE - RBC ACCOUNT 71790 MIXED ASSETS	76,210.	75,585.
Total	814,757.	799,528.

### **ASSET DETAIL**

**RUTH J JONES CHARITABLE TRUST** 

ROBERT B GREGORY TTEE

The Estimated Annualized Income ("EAI") for certain securities could include a return of principal or capital gains, in which case EAI depicted on this account statement would be overstated. EAI is only an estimate of income generated by the investment and the actual income may be higher or lower. In the event the investment matures, is sold or called, the full EAI may not be realized.

\* The Unrealized Gain/Loss may not reflect your investments' total return. Specifically, the net cost may include dividend and capital gains distributions which have been reinvested. Additionally, the information that appears in these columns may be based on information provided by you or at your direction. RBC has not verified such data. Please see "About Your Statement" on page 2 for further information.

reinvested dividends and capital gains distributions included Your Financial Advisor has elected to display Asset Detail with the following options asset purchases (tax lots) listed individually, reinvested dividends and capital gains distributions consolidated, and the cost of

## **RBC BANK DEPOSIT PROGRAM**

Deposits in the RBC Bank Deposit Program, with the exception of amounts classified as "Pending Deposits," are held by the Program Banks, not RBC Capital Markets. They are not covered by SIPC. Balances classified as "Pending Deposits" are scheduled to be deposited in the Program Banks on the business day following the statement date, and thus, these deposits are covered by SIPC until such time as they are deposited in the Program Banks. Deposit information is included on this statement solely as a service to our clients. All balance and transaction information is provided by the Program Banks. RBC Capital Markets is not responsible for Program Banks. excess of \$250,000 in the same insurable capacity at any single Program Bank are not insured. FDIC insurance coverage amounts are subject to the combined total of all deposits at a specific Program Bank including deposits held by the Program Bank outside of this account. Please refer to the RBC Bank Deposit Program Disclosure Statement and our website at www rbawmconnect com for more details, including the current aggregate FDIC deposit insurance amount available through the Program. For questions concerning bank balances, please contact your Financial Advisor the accuracy of this information. Deposits are insured by the Federal Deposit Insurance Corporation (FDIC) up to \$250,000 per depositor at each bank subject to certain limitations. This means that your funds in

)5 ?9	\$\$13.05 \$859.29	\$954.18 \$1,980.51	04/22/13 05/07/13			31.000 60.000		
?5	\$740.25	\$1,389.60	04/18/13			45.000		COM
13	\$2,484.43	\$5,277.69		57,762.12	\$47.330	164.000	ACHC	ACADIA HEALTHCARE CO INC
005	\$95.50	\$432.60	06/06/13			10.000		
78	52,197.78	54,984.38	02/27/13			136.000		
28 \$233.60	\$2,293.28	\$5,416.98		\$7,710.26	\$52.810	146.000	ABBV	,ABBVIE INC
ANNUALIZED INCOME	UNREALIZED GAIN/LOSS *	NET COST *	PURCHASE DATE	MARKET VALUE	MARKET PRICE	QUANTITY	SYMBOL/CUSIP	DESCRIPTION
								US EQUITIES
				•				
				-\$1,599.27			ET	TOTAL CASH AND MONEY MARKET
				-\$1,599.27				CASH
		PREVIOUS YEAR-END STATEMENT MARKET VALUE		CURRENT MARKET VALUE	MARKET PRICE	QUANTITY	SYMBOL/CUSIP	DESCRIPTION
								CASH AND MONEY MARKET
\$5.32				\$53,527.71			RAM	TOTAL RBC BANK DEPOSIT PROGRAM
					\$53,527.71		Winston Salem, NC	DEPOSITS ARE HELD AT: Branch Banking & Trust Co
\$5.32		\$0.00	,	\$53,527.71				RBC BANK DEPOSIT PROGRAM NOT SIPC COVERED
YTD INCOME		PREVIOUS YEAR-END STATEMENT BALANCE		CURRENT	BANK			DESCRIPTION

A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

RBC Wealth Management

# RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 5 of 101

BROADRIDGE FINANCIAL SOLUTIONS INC		BLACKROCK INC		BANK NEW YORK MELLON CORP		•				B/E AEROSPACE INC				AT&T INC					APPLE INC			AMAZON.COM INC		ALLIANCE DATA SYSTEM CORP			AGCO CORP			AFFILIATED MANAGERS GROUP INC	ADT CORPORATION COM		DESCRIPTION	US EQUITIES (continued)
<b>%</b>		BLK		BK						8EAV				7					AAPL			AMZN		AUS			AGCO			AMC	ADT		SYMBOL/CUSIP	
359.000 <i>291.000</i>	13.000 4.000	17.000	21.000	189.000	20.000	17.000	20.000	12.000	37.000	121.000	56.000	32.000	155.000	243.000	2.000	4.000	2.000	6.000	14.000	6.000	28.000	34.000	8.000	48.000 40.000	34.000	215.000	249.000	12.000	10.000	22.000	145.000	28.000	QUANTITY	
\$39.520		\$316.470		\$34.940						\$87.030				\$35.160					\$561.020			\$398.790		\$262.930			\$59.190			\$216.880	\$40.470		MARKET PRICE	
\$14,187.68		\$5,379.99		\$6,603.66						\$10,530.63				\$8,543.88					\$7,854.28			\$13,558.86		\$12,620.64			\$14,738.31			\$4,771.36	\$5,868.15		MARKET VALUE	
02/27/13	02/27/13 06/06/13		09/06/13		09/11/13	07/24/13	06/19/13	06/06/13	03/28/13		11/04/13	06/06/13	02/27/13		06/06/13	05/28/13	02/27/13	02/27/13		06/06/13	02/27/13		06/06/13	02/27/13	06/06/13	02/27/13		09/11/13	51/50/60		12/31/13	06/06/13	PURCHASE DATE	
\$8,459.87 \$6,669.43	\$3,136.51 \$1,068.56	\$4,205.07	\$5,128.87 \$707.28	\$5,836.15	\$1,466.36	\$1,194.42	\$1.304.80	\$767.52	\$2,225.11	\$7,887.01	\$2,034.48	\$1,144.61	\$5,558.07	\$8,737.16	\$875.66	\$1,769.80	\$896.22	\$2.688.66	\$6,230.34	\$1,601.40	\$7,405.16	\$9,006.56	\$1,411.20	\$7,750.00	\$1,854.02	\$10,975.43	\$12,829.45	\$2,193.96	02 252 13	\$3,947.26	\$5,865.24	\$953.40	NET COST *	
\$5,727.81 \$4,830.89	\$977.60 \$197.32	\$1,174.92	\$741.05 \$26.46	\$767.51	\$274.24	\$285.09	\$435.80	\$276.84	\$995.00	\$2,643.62	-\$65.52	-\$19.49	-\$108.27	-\$193.28	\$246.38	\$474.28	\$225,82	\$677.46	\$1,623.94	\$791.34	\$3,760.96	\$4,552.30	\$692.24	\$4,870.64	\$158.44	\$1,750.42	\$1,908.86	\$408.60	05 5173	\$824.10	\$2.91	\$371.84	UNREALIZED GAIN/LOSS • A	
\$301.5		\$114.2		\$113.41								_		\$447.1.					\$170.80								\$99.60				\$72.50		ESTIMATEI ANNUALIZED INCOM	

Account number: 315-01500 Page 6 of 101

US EQUITIES (continued)								
DESCRIPTION	SYMBOL/CUSIP	QUANTITY	MARKET PRICE	MARKET VALUE	PURCHASE DATE	NET COST *	UNREALIZED GAIN/LOSS *	ESTIMATED ANNUALIZED INCOME
		68.000			06/06/13	\$1,790.44	\$896.92	
CABOT OIL & GAS CORP	200	252.000	\$38.760	\$9,767.52		58,012.14	\$1,755.38	\$20.16
		214.000			02/27/13	56,682.14	51,612.50	
		38.000			06/06/13	\$1,330.00	\$142.88	
CATERPILLAR INC	CAT	47.000	\$90.810	\$4,268.07		\$4,276.15	-58.08	\$112.80
		40.000			02/27/13	\$3,689.20	-\$56.80	
		7.000			06/06/13	\$586.95	\$48.72	
CELGENE CORP	CELG	72.000	\$168.968	\$12,165.70		\$7,862.74	\$4,302.96	;
		42.000			02/27/13	\$4,263.84	\$2,832.82	
		8.000			06/06/13	5923.04	\$428.70	
		22.000			07/08/13	\$2,675.86	\$1,041.44	
CENTENE CORP DEL	CNC	258.000	\$58.950	\$15,209.10		\$11,752.60	\$3,456.50	
		231.000			02/27/13	510,433.92	53,183.53	
CHEVRON CORPORATION	CVX	61.000	\$124.910	\$7,619.51		\$7,148.28	\$471.23	\$244.00
		51.000			02/27/13	\$5,950.68	5419.73	
		10.000			06/06/13	\$1,197.60	\$51.50	
COMMON STOCK	CMG	12.000	\$532.780	\$6,393.36	03/37/13	\$3,893.80	\$2,499.56	
		2000			05/05/13	6216.00	33.00.03	-
CLEAN HARBORS INC	CCH	232.000	\$59.960	\$13.910.72	00/00/10	\$12,959,37	\$951.35	
		65.000			07/29/13	\$3.683.36	\$214.04	
		56.000			08/07/13	\$2,969.08	\$388.68	
		65.000			08/22/13	53,684.31	\$213.09	
		21.000			10/01/13	51,233.42	\$25.74	
COCA COLA COMPANY	5	197000		27 27 27	11/13/13	57,303.20	5453.00	
(THE)	ć	154.000		37,724.97	02/27/13	55,931.85	\$429.89	3409.44
		33.000			06/06/13	\$1,339.14	\$24.09	
CONTINENTAL RESOURCES INC	CLR	60.000	\$112.520	\$6,751.20		\$5,203.94	\$1,547.26	
		45.000			02/27/13	\$3,780.89	\$1,282.51	
		15.000			07/18/13	\$1,423.05	\$264.75	
. CULLEN FROST BANKERS INC	CFR	83.000	\$74,430	\$6,177.69		\$5,057.27	\$1,120.42	\$166.00
		70.000			02/27/13	\$4,228.00	\$982.10	
		13.000			06/06/13	5829.27	\$138.32	
-CVS CAREMARK CORPORATION	CVS	137.000	\$71.570	\$9,805.09		\$7,276.08	\$2,529.01	\$150.70
		94.000 43.000			02/27/13	54,807.02	\$1,920.56	
DARLING INTERNATIONAL INC	DAR	823.000	\$20.880	\$17,184.24		\$14,625.26	\$2,558.98	
		043.000	340.000	317,104.24		314,023.20	32,330.90	



A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

## RBC Wealth Management



# RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 7 of 101

US EQUITIES (continued)

	\$2,237.90 \$935.32 \$512.61	\$3,019.10 \$1,392.78 \$1,064.49	02/27/13 03/05/13 04/18/13		!	70.000 31.000 21.000	ļ	
	\$4.299.43	\$6.815.37		\$11,114.80	\$75,100	148,000	GILD	GILEAD SCIENCES INC
	\$353.25	\$1,423.00	06/06/13			25.000		
	\$/98.09	\$1,830.76	02/2//13			23.000		
	\$1,574.31	\$4,464.94		\$6,039.25	\$71.050	85.000	7	- GARTNER INC
	\$1,008.98	\$2,301.88	06/06/13			42.000		
	\$4,248.25	\$8,758.70	02/27/13			165.000		
\$115.92	<b>\$</b> 5,257.23	\$11,060.58		\$16,317.81	\$78.830	207.000	FLS	- FLOWSERVE CORP
	\$493.35	\$1,264.20	06/06/13			15.000		
	\$4,016.36	\$5,591.58	02/27/13			82.000		
	\$4,509.71	\$6,855.78		\$11,365.49	\$117.170	97.000	FLT	FLEETCOR TECHNOLOGIES INC
\$23.04	\$58.76	\$2,454.04	11/25/13	\$2,512.80	\$52.350	48.000	FRC	FIRST REPUBLIC BANK SAN FRANCISCO CALIF
	\$539.60	\$850.00	06/06/13			20.000		
	\$1,033.11	\$1,676.61	05/22/13			39.000		
	\$1,288.27	\$1,282.49	03/05/13			37.000		
	\$1,831.00	\$1,643.00	02/27/13			50.000		
\$29.20	\$4,691.98	\$5,452.10		\$10,144.08	\$69.480	146.000	FNGN	FINANCIAL ENGINES INC
	\$208.74	\$918.54	06/06/13			21.000		
	\$1,462.81	\$3,475.75	02/27/13	•		92.000		SERVICES INC
\$99.44	\$1,671.55	\$4,394.29		\$6,065.84	\$53.680	113.000	FIS	FIDELITY NATIONAL INFORMATION
	\$85.76	\$748.40	08/06/13			8.000		
	\$135.72	\$1,219.79	07/24/13			13.000		
\$23.10	\$221.48	\$1,968.19		\$2,189.67	\$104.270	21.000	ECT	ECOLAB INC
	\$134.10	\$733.50	06/06/13			18.000		
	\$176.00	\$1,029.00	05/07/13			25.000		
	\$1/9.52	3597.68	03/15/13			76.000		
\$63.84	\$777.62	\$3,271.18		\$4,048.80	\$48.200	84.000	DNKN	DUNKIN BRANDS GROUP INC
	\$113.26	\$1,152.62	08/05/13			14.000		
	\$159.10	\$745.10	06/06/13			10.000		
	\$202.14	\$1,425.42	05/22/13			18.000		
	\$1,079.47	\$4,616.99	02/27/13			63.000		COM SER A
	\$1,553.97	\$7,940.13		\$9,494.10	\$90.420	105.000	DISCA	DISCOVERY COMMUNICATIONS INC
	5389.97	\$4,140.99	12/13/13			217.000		
	\$2,006.93	\$8,161.63 \$2.322.64	02/27/13			487.000 119.000		
ANNUALIZED INCOME		NET COST *	DATE	VALUE	PRICE	QUANTITY	SYMBOL/CUSIP	DESCRIPTION
FSTIMATED			PIIRCHASE	MARKET	MARKET			(commuea)

## 

		=
		Ē
		Ξ
		Ē
		Ē

ROBERT B GREGORY TTEE
RUTH J JONES CHARITABLE TRUST

	\$164.30	\$1,579.40	08/09/13			53.000		
	\$262.75	\$7,402.95		\$7,665.70	\$32.900	233.000	LKQ	LKQ CORPORATION
\$16.12	\$479.82	\$1,672.20	06/12/13	\$2,152.02	\$69.420	31.000	LAD	LITHIA MOTORS INC-CL A
	-5111.54	\$1,412.52	12/09/13			6.000		
	\$379.77	\$1,354.87	06/06/13			8.000		
	\$317.20	51,417.44	05/09/13			8.000		
	\$142.85	\$941.30	04/29/13			5.000		•
	<i>\$336.56</i>	\$1,398.08	03/07/13			8.000		
	5911.81	\$3,207.96	02/27/13			19.000		COM CL A
	\$1,976.65	\$9,732.17		511,708.82	\$216.830	54.000	LNKD	LINKEDIN CORPORATION
	\$20.81	\$1,851.19	09/30/13			52.000		
	-558.38	5814.38	06/06/13			21.000		
	-5114.23	\$4,146.23	02/27/13			112.000		
\$303.40	-\$151.80	\$6,811.80		\$6,660.00	\$36,000	185.000	KMI	KINDER MORGAN INC
	\$244.65	\$1,612.80	06/06/13			15.000		
	\$1,501.00	\$7,910.08	02/27/13			76.000		
\$78.26	\$1,745.65	59,522.88		\$11,268.53	\$123.830	91.000	KSU	KANSAS CITY SOUTHERN
	\$116.16	\$1,170.40	06/06/13			22.000		
	\$1,167.55	\$6,317.89	02/27/13			128.000		
5228.00	\$1,283.71	\$7,488.29		\$8,772.00	\$58.480	150.000	JPM	JPMORGAN CHASE & CO
	\$63.52	\$703.04	06/06/13			8.000		
	\$488.31	53,440.31	02/27/13			41.000		
\$83.30	\$551.83	\$4,143.35		\$4,695.18	\$95.820	49.000	пс	ITC HOLDINGS CORP
\$167.44	\$4,191.64	\$9,249.06	02/27/13	\$13,440.70	\$73.850	182.000	豆	IDEX CORP
\$117.00	\$687.73	\$5,251.32	06/18/13	\$5,939.05	\$91.370	65.000	HON	HONEYWELL INTL INC
	\$319.98	\$2,842.17	09/25/13			45.000		
	\$627.60	\$1,480.50	06/06/13			30.000		
	51,182,44	52,963,49	05/30/13			59.000		
0 - 04.00	67 270 42	5/ /35 /0	04/03/13	0.10	0.0.1	25.000	į	
618400	64 450 45	(11 711 65	, , , , , , ,	C16 162 10	\$70.270	000 050	HBI	HANESBRANDS INC
	\$233.58	\$1.434.80	06/19/13			34.000		
	3732.02	3927.32	05/07/13			20,000		
	\$219.03	5811.44	04/22/13			27.000		
	5449.81	\$1,562.06	03/26/13			41.000		
	\$1,265.44	\$5,506.22		\$6,771.66	\$49.070	138.000	GWRE	GUIDEWIRE SOFTWARE INC
								CL A
	\$2.8655	85 519 63	08/23/13	\$1 <b>5</b> 85 <b>53</b>	\$1.120.710	3.000	GOOG	GOOGLE INC
		\$1,339.00	06/06/13			26.000		
ESTIMATED ANNUALIZED INCOME	UNREALIZED GAIN/LOSS *	NET COST *	PURCHASE DATE	MARKET VALUE	MARKET PRICE	QUANTITY	SYMBOL/CUSIP	DESCRIPTION
								(continued)
								IIC EDITIES



RBC Wealth Management



# RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 9 of 101

A dMsion of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

US EQUITIES (continued)

(continued)								-
DESCRIPTION	SYMBOL/CUSIP	QUANTITY	PRICE	VALUE	DATE	NET COST *	GAIN/LOSS * ANNU	ANNUALIZED INCOM
		40.000			08/14/13	\$1,213.60	\$102.40	
		44.000			10/14/13	\$1,415.04	\$32.56	
		46.000			11/27/13	\$1,528.01	-514.61	
		50.000			12/12/13	\$1,666.90	-521.90	
LOWES COMPANIES INC	LOW	117.000	\$49.550	\$5,797.35		\$4,482.66	<b>\$</b> 1,314.69	\$84.2
		91.000			02/27/13	\$3,429.66	\$1,079.39	
		25.000			00/00/13	\$7,053.00	3233.30	
LUMBER LIQUIDATORS HOLDINGS	L	27.000	\$102.890	\$2,778.03	08/30/13	\$2,824.47 \$1,090.23	-\$46.44 \$41.56	
		77.000			08/20/13	\$1,090.23	\$47.50	
		16.000			09/11/13	\$1,734.24	-588.00	
MACYS INC	<b>S</b>	101.000	\$53.400	\$5,393.40	11/21/13	\$5,137.81	\$255.59	\$101.00
MARKETAXESS HOLDINGS INC	MKTX	97.000	\$66.928	\$6,492.02		\$5,929.96	<b>\$</b> 562.06	\$50.4
		35.000			09/06/13	\$1,888.60	\$453.88	
		17.000			10/08/13	\$1,059.61	\$78.17	
		25.000 25.000			10/14/13	\$1,320.00 \$1,661.75	518.56 511.45	
MASTERCARD INCORPORATED	MA	16.000	\$835.460	\$13,367.36		\$8,388.87	\$4,978.49	\$70.40
		13.000			02/27/13	\$6,705.66	\$4,155.32	
		3.000			06/06/13	\$1,683.21	\$823.17	
MCCORMICK & CO INC NON-VOTING	MKC	76.000	\$68.920	\$5,237.92		\$5,150.31	\$87.61	\$112.48
		62.000			02/27/13	\$4,178.71	\$94.33	
		14.000			06/06/13	\$971.60	-56.72	
MEADWESTVACO CORP	NWV	327.000	\$36.930	\$12,076.11		\$11,587.09	\$489.02	\$327.00
		214.000			02/27/13	\$7,630.92	\$272.10	
		41.000			05/10/13	\$1,441.93	\$72.20	
MICROSOFT CORP	MSFT	200.000	\$37.410	\$7.482.00		\$5.812.68	\$1.669.32	\$224.00
		168.000			02/27/13	\$4,700.39	\$1,584.49	_
		32.000			06/06/13	\$1,112.29	\$84.83	
- MIDDLEBY CORP	MIDD	23.000	\$239.724	\$5,513.65		\$4,495.88	\$1,017.77	
		6.000			07/17/13	\$1,119.06	\$319.28	
		5.000			07/30/13	\$901.15	\$297.47	
•		7.000			08/14/13	\$1,397.27	\$280.80	
		3.000			09/18/13	31,0/8.40	3120.22	
MOTOROLA SOLUTIONS INC	MSI	93.000	\$67.500	\$6,277.50		\$5,707.64	\$569.86	<b>\$</b> 115.3;
		79.000			02/27/13	\$4,915.38	\$417.12	
NEWEIEI D EVEI OBATION CO	NEV	261 000	069 763	£12 017 /3	00/00/13	513 104 46	71.707	
NEWFIELD EXPLORATION CO	NFX	301.000	324.030	\$13,817.43		\$13,104.46	3/12.9/	

365.000

02/27/13

\$8,522.39

\$467.56

## ROBERT B GREGORY TTEE RUTH J JONES CHARITABLE TRUST

-\$43.29 \$5.61 \$1,126.42 \$965.61 \$160.81 \$4,443.24 \$3,582.53 \$860.71 \$908.03 \$154.00 \$651.04 \$256.99 \$176.65 \$292.59 \$22.96	\$5,036.80 \$2,039.31	06/06/13			07.000		
		02/27/13			272.000		
	\$7,076.11		\$9,868.71	\$32.570	303.000	SWY	-SAFEWAY INC
	\$1,544.85	09/18/13			5.000		
	51,078.00	09/05/13			\$ 000 000		,
	52,184.57	08/28/13			9.000		
	\$6,153.87		\$6,330.52	\$275.240	23.000	REGN	REGENERON PHARMACEUTICALS INC
	52,044.76	08/27/13			31.000		
	\$7,259.47	01/17/13	\$8,167.50	\$74.250	110.000	QCOM	QUALCOMM INC
	\$1,615.17	06/06/13			17.000		
	\$5,301.51	02/27/13			61.000		
	\$6,916.68		\$11,359.92	\$145.640	78.000	PII	POLARIS INDUSTRIES INC
	5841.88	06/06/13			13.000		
	\$4,279.23	02/27/13			68.000		COM
-\$43.29 \$5.61	\$5,121.11		\$6,247.53	\$77.130	81.000	PSX	PHILLIPS 66
	\$1,562.73	09/30/13			18.000		
-3207.03	53,302.02	02/27/13			13,000		Č
-\$304.77 \$345.92	\$8,320.73	03/37/13	\$8,015.96	\$87.130	92.000	PM	PHILIP MORRIS INTERNATIONAL
\$120.52	\$1,349.72	06/06/13			48.000		
\$756.09	\$6,687.00	02/27/13			243.000		
\$876.61 \$302.64	\$8,036.72		\$8,913.33	\$30.630	291.000	PFE	PFIZER INC
\$176.89	\$1,025.43	08/22/13			19.000		
•	\$2.517.23	06/19/13			51.000		
\$886.94 \$112.00	\$3,542.66		\$4,429.60	\$63.280	70.000	PKG	PACKAGING CORP AMER
\$1,548.05 \$312.97	\$4,110.33 \$744.09	02/27/13			97.000		
\$1,861.02 \$164.16	\$4,854.42		\$6,715.44	\$62.180	108.000	OKE	ONEOK INC
\$49.64	\$2,255.56	06/06/13			68.000		
\$873.60	\$5,296.20	02/27/13			182.000		
\$923.24 \$225.00	\$7,551.76		\$8,475.00	\$33.900	250.000	OGE	OGE ENERGY CORP
\$126.00	\$1,158.30	06/06/13			15.000		
	£8 0£2 £3	02/27/13			000 CS		
\$838.41 \$176.88	\$4,898.13		\$5,736.54	\$85.620	67.000	NEE	NEXTERA ENERGY INC
\$167.04	52,197.44	06/06/13			96.000		
	\$2.384.63	03/13/13			100.000		
UNREALIZED ESTIMATED GAIN/LOSS * ANNUALIZED INCOME	NET COST *	PURCHASE DATE	MARKET VALUE	MARKET PRICE	QUANTITY	SYMBOL/CUSIP	DESCRIPTION
							US EQUITIES (continued)

A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

RBC Wealth Management



# RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 11 of 101

US EQUITIES (continued)

						_																												_			
	TRINITY INDUSTRIES INC		TRACTOR SUPPLY CO				•	TIMKEN CO			TIME WARNER CABLE INC					TIDEWATER INC				THOR INDUSTRIES INC			STERICYCLE INC			STARBUCKS CORP			SPS COMM INC			SOUTHERN COPPER CORPORATION			CL A	SEA COMMINICATIONS CORP	חבניםופיוטע
	TRN		TSCO					TKR			TWC					TDW				THO			SRCL			SBUX			SPSC		1	SCCO			SBAC	STMBUL/CUSIP	CV11501 /011718
76.000	294.000	32.000	196.000	54.000	51.000	22.000	113.000	240.000	10.000	40.000	50.000	38.000	59.000	70.000	47.000	214.000	15.000	48.000	129.000	192.000	13.000	45.000	58.000	12.000	61.000	73.000	12.000	29.000	41.000	28.000	000 851	186 000	18.000	24 000	48.000	QUANTITY	<b>&gt;</b>
	\$54.520		\$77.580					\$55.070			\$135.500					\$59.270				<b>\$</b> 55.230			\$116.170			\$78.390			\$65.300			628 710			389.840	PRICE	MARKET
	\$16,028.88		\$15,205.68					\$13,216.80			\$6,775.00					\$12,683.78				\$10,604.16			\$6,737.86			\$5,722.47			\$2,677.30		0.00	30.08			38,984.00	VALUE	MARKET
02/27/13		06/06/13		11/01/13	07/10/13	06/06/13	02/27/13		06/06/13	02/27/13		10/01/13	07/10/13	06/06/13	05/30/13		06/06/13	03/13/13	02/27/13		06/06/13	02/27/13		06/06/13	02/27/13		06/06/13	05/15/13		06/06/13	02/27/13		12/04/13	06/06/13	62/27/13	DATE	PURCHASE
\$3,744.23 \$3,155.52	\$11,782.16	\$1,782.24	\$10,277.44	\$2,850.92	\$3,032.74	\$1,238.60	\$6,195.51	\$13,317.77	\$943.20	\$3,526.39	\$4,469.59	\$2,239.08	\$3,462.75	\$3,928.60	\$2,639.49	\$12,269.92	\$617.85	\$1,855.64	\$4,895.29	\$7,368.78	\$1,391.52	\$4,320.81	\$5,712.33	\$753.24	\$3,346.31	\$4,099.55	\$631.20	51,411.43	\$2,042.63	\$873.32	50,072.13	66 877 10	\$1.541.34	63 575 67	\$7,519.90	NET COST *	
\$944.49 \$988.00	\$4,246.72	\$4,227.92	\$4,928.24	\$122.86	-5224.17	-527.06	\$27.40	-\$100.97	\$411.80	\$1,893.61	\$2,305.41	\$13.18	534.18	\$220.30	\$146.20	\$413.86	\$210.60	\$795.40	\$2,229.38	\$3,235.38	\$118.69	5906.84	\$1,025.53	\$187.44	\$1,435.48	\$1,622.92	\$152.40	\$482.27	\$634.67	-569.44	-51,352.13	-61 633 13	\$75.78	647873	\$1,464.10 \$909.60		UNREALIZED
	\$176.40		\$101.92					\$220.80			\$130.0C					\$214.00				\$176.64						\$75.92					3120.46	51 36 AS				ANNUALIZED INCOME	ESTIMATEG

ROBERT B GREGORY TTEE RUTH J JONES CHARITABLE TRUST

Page 12 o	315-0	Account nun
2 of 101	15-01500	number:

	_	. ,				,	_	1			_				_				1										_				_						_	
	WHIRI POOL CORP						WESTERN UNION CO				WELLS FARGO & CO				VIRTUS INVESTMENT PARTNERS INC			VF CORPORATION			URS CORPORATION	UNITEDHEALTH GROUP INC				UNION PACIFIC CORP			TYLER TECHNOLOGIES INC				TUPPERWARE BRANDS CORPORATION			TRIPADVISOR INC			DESCRIPTION	(continued)
4417	W/HR						WU				WFC				VRTS			VFC			URS	HNU				UNP			갠				TUP			TRIP			SYMBOL/CUSIP	
28.000	000 9E	132.000	105.000	111.000	159.000	337.000	844.000	31.000	27.000	134.000	192.000	3.000	5.000	10.000	18.000	28.000	100.000	128.000	48.000	243.000	291.000	70.000	10.000	6.000	37.000	53.000	8.000	22.000	30.000	13.000	7.000	25.000	45.000	20.000	28.000	48.000	83.000	49.000	QUANTITY	
# 100.000	6158 860						\$17.250				\$45.400	:			\$200.050			\$62.340			\$52.990	\$75.300				\$168.000			\$102.130				\$94.530			\$82.830			PRICE	
10,040.50	52 616 06						\$14,559.00				\$8,716.80				\$3,600.90			\$7,979.52			\$15,420.09	\$5,271.00				\$8,904.00			\$3,063.90				\$4,253.85		-	\$3,975.84			VALUE	
04/22/13		10/01/13	06/06/13	51/21/30	04/02/13	02/27/13		06/06/13	05/28/13	02/27/13		06/06/13	05/09/13	02/27/13		06/06/13	02/27/13		06/06/13	02/27/13		09/06/13	12/02/13	06/06/13	02/27/13		06/06/13	05/31/13		08/22/13	06/06/13	05/16/13		12/27/13	10/04/13		07/10/13	06/06/13	DATE	
\$3,317.19	0 5 8 0 C N 3	\$2,460.10	\$1.715.62	\$1 847 99	\$2.357.84	\$4,793.99	<b>\$</b> 13,175.54	\$1,259.19	\$1,094.02	\$4,704.54	\$7,057.75	\$686.85	\$1,084.05	\$1,711.60	\$3,482.50	\$1,286.53	54,021.00	\$5,307.53	\$2,245.44	\$10,308.06	\$12,553.50	\$5,197.39	\$1,641.30	\$921.66	\$5,072.70	\$7,635.66	\$552.72	\$1,530.56	\$2,083.28	\$1,079.10	\$569.45	\$2.078.19	\$3,726.74	\$1,632.19	\$2,202.20	\$3,834.39	\$2,974.35	\$1,908.06	NET COST *	
\$1,074.89	61 3/8 57	-5183.10	595.63	366.76	\$384.91	\$1,019.26	\$1,383.46	\$148.21	\$131.78	\$1,379.06	\$1,659.05	-586.70	-583.80	\$288.90	\$118.40	\$458.99	\$2,213.00	\$2,671.99	5298.08	52,568.51	\$2,866.59	\$73.61	\$38.70	\$86.34	\$1,143.30	\$1,268.34	\$264.32	\$716.30	\$980.62	\$149.79	\$92.26	\$285.06	\$527.11	\$24.41	\$117.04	\$141.45	\$1,550.81	\$763.42	GAIN/LOSS * A	
\$90.00	<b>c</b> 00 00						\$422.00				\$230.40							\$134.40			5244.44	\$78.40				\$167.48							\$111.60						ANNUALIZED INCOME	



A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

RBC Wealth Management



## RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 13 of 101

US EQUITIES (continued)								
DESCRIPTION	SYMBOL/CUSIP	QUANTITY	MARKET PRICE	MARKET VALUE	PURCHASE DATE	NET COST •	UNREALIZED GAIN/LOSS * AI	UNREALIZED ESTIMATEI GAIN/LOSS * ANNUALIZED INCOM
		8.000			06/06/13	\$981.20	\$273.68	
WORKDAY INC	WDAY	155.000	\$83.160	\$12,889.80		\$9,609.08	\$3,280.72	
CLA		52.000			02/27/13	\$2,910.95	51,413.37	
		10.000			03/05/13	\$635.70	\$195.90	
		10.000			03/07/13	\$625.90	\$205.70	
		16.000			04/12/13	\$987.04	\$343.52	
		26.000			05/15/13	\$1,734.98	\$427.18	
		30.000			06/06/13	\$1,901.10	\$593.70	
		11.000			08/20/13	\$813.41	\$101.35	
CL A	YELP	28.000	\$68.950	\$1,930.60	10/08/13	\$1,834.69	<b>\$</b> 95.91	
TOTAL US EQUITIES				\$788,976.83		\$634,476.06	\$154,500.77	\$9,754.1
INTERNATIONAL EQUITIES								

-	
	п
-	
•	v
-	7
•	_
``	٠,
•	
_	_
_	_ (
7	,
•	
- 2	:
4	_
5	,
F	-
ŕ	-
ŕ	_
ŕ	_
7	5
2	5
ה ה ה	5
ה העלים ה	5
ה העכור העכור	֚֡֟֜֜֝֟֜֜֜֝֟֜֜֟֜֜֟֜֜֜֟֜֜֟֜֜֟֜֜֟֜֜֜֟֜֜֜֟֜֜
ב הלפון	5
ר העסודו	5
ני רלטווים	
ני רלטווני	
ני רלטוורט	

							_			_										_		_
ATLAS COPCO AB-SPONSORED ADR REPSTG SER A	ARM HOLDINGS PLC SPONSORED ADR		SPONSORED ADR	- ANHEUSER-BUSCH INBEV SA		SPONSORED ADR REPSTG 1/10 SH	ALLIANZ SE			AIR LIQUIDE-ADR		SPONSORED ADR	AIA GROUP LTD				ACE LIMITED		SHS CL A	ACCENTURE PLC IRELAND	DESCRIPTION	
ATLKY	ARMH			BUD			AZSEY			AIQUY			AAGIY				ACE			ACN	SYMBOL/CUSIP	
197.000 <i>166.000</i>	154.000	11.000	60.000	71.000	100.000	534.000	634.000	69.000	273.000	342.000	75.000	393.000	468.000	13.000	14.000	43.000	70.000	12.000	62.000	74.000	QUANTITY	
\$27.761	<b>\$</b> 54.731			\$106.460			\$17.962			\$28.331			\$20.068				<b>\$</b> 103.530			\$82.220	MARKET PRICE	
\$5,468.92	\$8,428.57			\$7,558.66			\$11,387.91			\$9,689.20			\$9,391.82				\$7,247.10			\$6,084.28	MARKET VALUE	
02/27/13	02/27/13	06/06/13	02/27/13		06/06/13	02/27/13		06/06/13	02/27/13		06/06/13	02/27/13		. 09/30/13	06/06/13	04/05/13		06/06/13	02/27/13		PURCHASE DATE	
\$5,665.22 \$4,855.50	\$6,739.04	\$1,015.52	\$5,611.80	\$6,627.32	\$1,505.00	\$7,326.48	\$8,831.48	\$1,768.47	\$6,688.50	\$8,456.97	\$1,276.50	\$6,736.02	\$8,012.52	\$1,220.24	\$1,239.84	\$3,814.95	<b>\$</b> 6,275.03	\$953.40	\$4,620.77	\$5,574.17	NET COST *	
-\$196.30 - <i>\$247.17</i>	\$1,689.53	\$155.54	\$775.80	<b>\$</b> 931.34	\$291.20	\$2,265.23	\$2,556.43	\$186.37	\$1,045.86	\$1,232.23	\$228.60	\$1,150.70	<b>\$</b> 1,379.30	\$125.65	\$209.58	\$636.84	\$972.07	\$33.24	\$476.87	\$510.11	UNREALIZED GAIN/LOSS * /	
\$116.0	\$31.1			\$177.7			\$275.7			\$175.4			9.182				\$176.4			\$137.6	ESTIMATEI ANNUALIZED INCOM	

\$87.89	\$185.44 \$93.73	\$5,582.95 \$4,749.25	02/27/13	\$5,768.39	\$30.847	187.000 157.000	СМХНҮ	CSL LTD UNSPONSORED ADR
	\$118.92 \$89.26 \$130.62	\$766.38 \$796.04 \$822.78	03/07/13 04/05/13 06/06/13			13.000 13.000 14.000		
	\$302.79	52,148.81	03/06/13			36.000		
\$97.28	\$641.59	\$4,534.01		\$5,175.60	\$68.100	76.000	COV	COVIDIEN PLC
	\$110.96 \$136.88	\$529.48 \$1,144.00	08/05/13			8.000		
	\$287.32	\$1,473.89	06/10/13			11.000		CLA
\$67.16	\$535.16	\$3,147.37		\$3,682.53	\$160.110	23.000	CPA	COPA HOLDINGS S A
	-57.66	\$489.06 \$192.15	06/13/13			7.000		
	-\$957.91	\$3,461.73	02/27/13			95.000		AS 0.10 PAR UNSPONSORED ADR
\$128.52	-\$980.22	\$4,142.94		\$3,162.72	\$26.356	120.000	СНЕОУ	COCHLEAR ORD PLC
	\$960.59	\$2,531.29	06/06/13			42.000		
\$38.00	\$4,999.73 \$4,039.14	\$10,796.87 \$8.265.58	03/07/13	\$15,796.60	\$83.140	190.000	CBI	CHICAGO BRIDGE & IRON CO NV
	\$151.40	\$989.00	06/06/13			20.000		
	3/39.50	\$4,962.50	02/2//13			100.000		66
\$100.32	\$890.90	\$5,951.50		\$6,842.40	\$57.020	120.000	CNI	CANADIAN NATIONAL RAILWAY
	\$177.32	\$890.11	06/06/13			13.000		
	\$604.04	\$5,389.99	02/27/13			73.000		
\$103.20	\$781.36	\$6,280.10		\$7,061.46	\$82.110	86.000	<b>B</b> C	BUNGE LTD
	\$152.26	5836.28	06/06/13			46.000		
3/8.08	\$1,025.86 \$873.60	54,284.00	02/27/13	36,146.14	321.490	240.000	BRCYY	INSTALLMENT
53000	51 555 55	55 170 70	10/13/13			36.000		
	37 00.33	52,003.00	10/15/13			38,000		
	\$137.93	\$566.64	06/06/13			18.000		
	\$761.68	\$2,917.76	02/27/13			94.000	!	UNSPONSORED ADR
\$152.23	\$1.157.71	\$6.905.75		\$8.063.46	\$39.143	206.000	BAMXY	BAYERISCHE MOTOREN WERKE AG
	\$171.05 \$664.74	\$\$10.40 \$1,763.70	06/06/13 06/11/13			55.000 196.000		
	5821.60	\$3,093.64	02/27/13			316.000		ARGENTARIA S A SPONSORED ADR
\$248.35	\$1,657.39	\$5,367.74		\$7,025.13	\$12.390	567.000	BBVA	BANCO BILBAO VIZCAYA
	\$1,410.40	\$1,435.68	06/24/13			16.000		CL A
	\$2,591.02	\$3,279.02	06/13/13			33.000		SPONSORED ADR REPSTG ORD SHS
	\$4,001.42	\$4,714.70		\$8,716.12	\$177.880	49.000	BIDU	BAIDU INC
	\$50.87	\$809.72	06/06/13			31.000		
ESTIMATED ANNUALIZED INCOME	UNREALIZED GAIN/LOSS * ANI	NET COST *	PURCHASE DATE	MARKET VALUE	MARKET PRICE	QUANTITY	SYMBOL/CUSIP	DESCRIPTION
								INTERNATIONAL EQUITIES (continued)

RBC Wealth Management

# RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 15 of 101

A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

INTERNATIONAL EQUITIES (continued)

MALLINCKRODT PLC		VUITTON SA UNSPONSORED ADR	IVMH MOET HENNIESSY LOUIS		L OREAL CO-ADR			UNSPONSORED ADR	J G C CORP			IMPERIAL OIL LTD NEW		SPONSORED ADR	ICICI BANK LTD	CLEARING LTD UNSPONSORED ADR	HONG KONG EXCHANGES &		SPONSORED ADR	GAZPROM O A O		& CO KGAA SPONSORED ADR	FRESENIUS MEDICAL CARE AG			UNSPONSORED ADR	FANUC CORPORATION		CALCIN CONFORMATION FEC	באדמיי המיינים ביינים ב	SPONSORED AUX	DBS GROUP HOLDINGS LTD		SPONSORED ADR	DASSAULT SYSTEMS S A		DESCRIPTION
MNK		LVMUY			LRLCY				JGCCY			IMO			IBN		HKXCY			OGZPY			FMS				FANUY		<u> </u>			DBSDY			DASTY		SYMBOL/CUSIP
2.000	17.000	109.000 <i>92.000</i>		213.000 39.000	252.000	22.000	25.000	75.000	122.000	17.000	90.000	107.000	25.000	135.000	160.000		229,000	55.000	303.000	358.000	102.000	75.000	177.000	31.000	49.000	257.000	337.000	13.000	61,000	15.000	79.000	94.000	14.000	79.000	93.000	30.000	QUANTITY
\$52.260		\$36.543			\$35,193				\$78.493			\$44.230			\$37.170		\$16.676			\$8.445			\$35.580				\$30.525		3/6.120			\$54.174			\$124.332		MARKET PRICE
\$104.52		\$3,983.19			\$8,868.64				\$9,576.15			\$4,732.61			\$5,947.20		\$3.818.80			\$3,023.31			\$6,297.66				\$10,286.93		\$5,632.88			\$5,092.36			\$11,562.88		MARKET VALUE
03/06/13	06/06/13	02/27/13	00/00/13	02/27/13		06/06/13	05/20/13	02/27/13		06/06/13	02/27/13		06/06/13	02/27/13		00) . 0	06/13/13	06/06/13	02/27/13		06/06/13	02/27/13		10/17/13	06/06/13	02/27/13		06/06/13	03/37/13	06/06/13	02/27/13		06/06/13	02/27/13		06/06/13	PURCHASE DATE
\$91.50	\$589.56	\$3,781.04 <i>\$3,191.48</i>	41.763,16	\$6,368.70 \$1 297.14	\$7,665.84	\$1,436.38	\$1,733.25	54,192.50	\$7,362.13	\$648.89	\$3,753.90	\$4,402.79	\$1,098.25	\$5,772.40	\$6,870.65	44, 10.10	\$3.748.46	\$399.85	\$2,727.00	\$3,126.85	\$3,506.75	\$2,594.24	\$6,100.99	\$900.54	\$1,182.37	\$6,592.05	\$8,674.96	\$833.69	\$4,607.15	\$774.00	\$3,890.75	\$4,664.75	\$1,806.00	\$8,972.82	\$10,778.82	\$833.70	NET COST *
<b>\$</b> 13.02	\$31.67	\$202.15 <i>\$170.48</i>	2/2.29	51,127.41	\$1,202.80	\$290.47	\$229.08	\$1,694.48	\$2,214.02	\$103.02	\$226.80	\$329.82	-\$169.00	-\$754.45	-\$923.45		\$70.34	\$64.63	-\$168.16	-\$103.54	\$122.41	\$74.26	\$196.67	\$45.74	\$313.36	\$1,252.88	\$1,611.97	\$155.87	\$1,025.73	\$38.61	\$389.00	\$427.61	-565.35	\$849.41	\$784.06	591.71	UNREALIZED GAIN/LOSS * A
		\$63.33			\$118.19				\$97.48			\$53.07			\$106.72	, do . 10	587 48			\$102.39		4	\$59.12				\$69.42		\$124.32			\$163.00			\$67.61		ESTIMATED ANNUALIZED INCOME

ROBERT B GREGORY TTEE RUTH J JONES CHARITABLE TRUST

	3286.25	31.892.25	06/06/13			23.000		
	\$1,158.92	510,692.12	02/2//13			75.000		UPONSORED AUX
5128.48	\$1,445.17	\$12,584.37		\$14,029.54	\$87.140	161.000	SAP	SAP AG
	\$231.62	\$1,449.60	06/06/13			24.000		•
\$251.72	\$1,929.52 <i>\$1,697.90</i>	\$8,928.39 <i>\$7,478.79</i>	02/27/13	\$10,857.91	\$70.051	155.000 <i>131.000</i>	RННВҮ	SPONSORED ADR REPSTG ORD
\$41.28	\$401.76	\$2,286.24	11/25/13	\$2,688.00	\$56.000	48.000	QIWI	QIWI PLC \$PONSORED ADR REPSTG CL B
	-\$234.60 -\$148.54 -\$86.06	\$2,439.40 \$1,995.06 \$444.34	02/27/13 06/06/13	\$2,204.80	\$13.780	160.000 134.000 26.000	PBR	PETROLEO BRASILEIRO SA PETROBRAS SPONSORED ADR
\$161.00	\$3,830.88 \$3,153.60 \$677.28	\$8,673.99 \$6,710.49 \$1,963.50	02/27/13 06/06/13	\$12,504.87	\$77.670	127.000 127.000 34.000	PZ	SHS
	\$2,501.03	\$30,810.78	06/06/13			886.896		
\$827.74	\$12,182.86 \$9,681.83	\$178,552.98 \$147,742.20	02/27/13	\$190,735.84	\$37.560	5,078.164 <i>4,191.268</i>	ODWX	OPPENHEIMER DEVELOPING MKTS FDS CL Y
	\$104.05 \$406.59	\$819.75 \$3,842.89	06/06/13 06/13/13			5.000 23.000		
\$126.78	\$768.52 \$257.88	\$9,578.04 <i>\$4,915.40</i>	02/27/13	\$10,346.56	\$184.760	56.000 28.000	NVO	NOVO NORDISK A/S-ADR REPSTG 1/2 CL B SH
	5114.98	5749.88	06/06/13			36.000		
\$158.90	\$321.01 <i>\$206.03</i>	\$4,796.10 \$4,046.22	02/27/13	\$5,117.11	\$24.024	213.000 <i>177.000</i>	NKRKY	NOKIAN TYRES OYJ UNSPONSORED ADR
	\$178.94	\$1,803.51	06/06/13			27.000		
\$315.98	\$774.88 <i>\$595.94</i>	\$12,000.90 <i>\$10,197.39</i>	02/27/13	\$12,775.78	\$73.424	174.000 147.000	NSRGY	NESTLE SA-SPONSORED ADR REPSTG REGD ORD (SF 10 PAR)
	\$88.50	\$429.50	06/06/13			25.000		
\$114.66	\$156.62 <i>\$68.12</i>	\$3,075.70 <i>\$2,646.20</i>	02/27/13	\$3,232.32	\$20.720	156.000 <i>131.000</i>	MTNOY	MTN GROUP LTD SPONS ADR
	-\$188.72	\$1,633.00	11/18/13	\$1,444.28	\$20.342	71.000	MONOY	MONOTARO CO LTD OSAKA UNSPONSORED ADR
	-51.18	\$5,028.24	10/01/13	\$5,027.06	\$29.923	168.000	МІТЕҮ	MITSUBISHI ESTATE CO LTD ADR
	\$453.60 \$648.05 \$452.04	\$644.56 \$1,469.83 \$1,116.76	06/06/13 08/20/13 09/03/13			28.000 54.000 40.000		
	\$2,653.14 <i>\$1,099.45</i>	\$4,994.76 \$1,763.61	04/29/13	\$7,647.90	\$39.220	195.000 <i>73.000</i>	MPEL	MELCO CROWN ENTERTAINMENT LTD ADR
ESTIMATED ANNUALIZED INCOME	UNREALIZED GAIN/LOSS *	NET COST *	PURCHASE DATE	MARKET VALUE	MARKET PRICE	QUANTITY	SYMBOL/CUSIP	DESCRIPTION
								INTERNATIONAL EQUITIES (continued)

The state of the s

### 

# RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 17 of 101

A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

INTERNATIONAL EQUITIES (continued)

\$124.14	\$104.31 \$107.25	\$3,562.49 <i>\$2,982.75</i>	02/27/13	\$3,666.80	\$41.200	89.000 75.000	UL	UNILEVER PLC SPONSORED ADR
\$35.5	-\$163.77 -\$110.42 -\$53.35	\$7,550.57 \$6,332.69 \$1,217.88	02/27/13 06/06/13	\$7,386.80	\$11.417	647.000 545.000 102.000	UNICY	UNICHARM CORP SPONSORED ADR
	-\$2,099.54 -\$1,812.78 -\$286.76	\$6,418.46 \$5,438.34 \$980.12	02/27/13 06/06/13	\$4,318.92	\$3.240	1,333.000 1,119.000 214.000	TKGBY	SPONSORED ADR REPSTG 2000 SHS
\$145.1	\$0.81 -\$14.47 \$15.28	\$3,737.12 \$3,137.72 \$599.40	02/27/13 06/06/13	\$3,737.93	\$16.613	225.000 188.000 37.000	TSCDY	TESCO PLC-SPONSORED ADR
	-\$351.70 -\$306.12 -\$83.52 \$37.94	\$9,664.66 \$6,828.68 \$1,339.20 \$1,496.78	02/27/13 06/06/13 06/24/13	\$9,312.96	\$17.440	534.000 374.000 72.000 88.000	TSM	TAIWAN SEMICONDUCTOR MFG CO LTD-SPONSORED ADR REPSTG 5 COM
\$38.90	\$590.71 \$634.92 -\$44.21	\$5,938.07 \$4,830.35 \$1,107.72	02/27/13 06/06/13	\$6,528.78	\$29.542	221.000 1 <i>85.000</i> 36.000	SSMXY	SYSMEX CORPORATION UNSPONSORED ADR
\$31.6.	\$671.90 \$325.89 \$346.01	\$4,365.68 \$1,795.20 \$2,570.48	02/27/13 06/06/13	\$5,037.58	\$33.142	152.000 <i>64.000</i> <i>88.000</i>	SWGAY	SWATCH GROUP AG (THE) UNSPONSORED ADR
\$99.9;	\$485.94 \$406.24 \$79.70	\$3,327.22 \$2,816.50 \$510.72	02/27/13 06/06/13	\$3,813.16	\$24.601	155.000 131.000 24.000	SVNLY	SVENSKA HANDELSBANKEN UNSPONSORED ADR REPRESENTING A SHARES
	\$435.34 \$313.53 \$121.81	\$3,477.63 \$2,277.13 \$1,200.50	02/27/13 09/17/13	\$3,912.97	\$26.986	145.000 96.000 49.000	SONVY	SONOVA HOLDING AG UNSPONSORED ADR
\$638.4	\$640.60 \$597.96 \$42.64	\$6,260.84 \$5,235.40 \$1,025.44	02/27/13 06/06/13	\$6,901.44	\$41.080	168.000 142.000 26.000	SDRL	SEADRILL LIMITED SHS
\$179.5	\$1,010.96 \$857.29 \$153.67	\$7,375.60 \$6,201.40 \$1,174.20	02/27/13 06/06/13	\$8,386.56	\$17.472	480.000 404.000 76.000	SBGSY	SCHNEIDER ELECTRIC SA UNSPONSORED ADR
\$101.2	\$1,042.79 \$818.14 \$224.65	\$6,256.12 \$5,309.34 \$946.78	02/27/13 06/06/13	\$7,298.91	\$90.110	81.000 68.000 13.000	SLB	SCHLUMBERGER LTD
39.60	\$348.20 \$296.00 \$52.20	\$2,618.80 \$2,176.50 \$442.30	02/27/13 06/06/13	\$2,967.00	\$49.450	60.000 <i>50.000</i> 1 <i>0.000</i>	SSL	SASOL LTD-SPONSORED ADR
ESTIMATEI ANNUALIZED INCOM	UNREALIZED GAIN/LOSS * /	NET COST +	PURCHASE DATE	MARKET VALUE	MARKET PRICE	QUANTITY	SYMBOL/CUSIP	DESCRIPTION



## ROBERT B GREGORY TTEE RUTH J JONES CHARITABLE TRUST

Account number: 315-01500 Page 18 of 101

(continued)

TOTAL TAXABLE FIXED INCOME		PFU	S A SPONSORED AUR REPSIG 500	ITAU UNIBANCO BANCO HOLDING	DESCRIPTION	TAXABLE FIXED INCOME	TOTAL INTERNATIONAL EQUITIES		UNSPONSORED AUR	XINYI GLASS HOLDINGS LTD		AUR	WPP PLC NEW		DESCRIPTION	
				ITUB	SYMBOL/CUSIP					XYIGY			WPPCY		SYMBOL/CUSIP	
612.000	102.000	81.000	429.000	612.000	QUANTITY			35.000	65.000	100.000	16.000	89.000	105.000	14.000	QUANTITY	
				\$13.570	MARKET PRICE					\$17.643			\$114.860		PRICE	
\$8,304.84				\$8,304.84	MARKET VALUE/ ACCRUED INTEREST		\$587,330.52			\$1,764.30			\$12,060.30		MARKET VALUE	
	10/11/13	06/06/13	02/27/13		PURCHASE DATE			06/06/13	02/27/13		06/06/13	02/27/13		06/06/13	PURCHASE DATE	
\$9,528.61	\$1,499.40	51,189.00	\$6,840.21	\$9,528.61	NET COST *		\$525,582.08	\$586.25	5867.75	\$1,454.00	\$1,370.72	\$7,030.10	\$8,400.82	5579.74	NET COST *	
-\$1,223.77	-5115.26	-589.83	-51,018.68	-\$1,223.77	UNREALIZED GAIN/LOSS * A		\$61,748.44	\$31.26	\$279.05	\$310.30	\$467.04	53,192.44	\$3,659.48	-52.94	GAIN/LOSS * A	
\$47.74				\$47.74	UNREALIZED ESTIMATED GAIN/LOSS * ANNUALIZED INCOME		\$7,605.32			\$51.10			\$241.82		ESTIMATED ANNUALIZED INCOME	

### **ACTIVITY DETAIL**

Realized gain/loss column includes fees and commissions. It does not include accrued interest

Purchases, sales and other activity all represent an exchange of cash and/or money market funds for securities and, as such, do not represent deposits to or withdrawals from your account. Account value changes due to commissions, mark ups, mark downs and accrued interest are shown in the "Change in value of priced securities" line of the Account Value Summary.

\* Information that appears in these columns may be based on information provided by you or at your direction, RBC has not verified such data. Please see "About Your Statement" on page 2 for further information.

\*\* RBC makes every effort to ensure accurate reporting of realized gains and losses on this statement. For those items marked as N/A, please refer to the Schedule of Realized Gains and Losses at the end of this statement for more detailed gain/loss information. If you have any questions, please contact your Financial Advisor

#### **PURCHASES**

Regular Purchases

		<u>.</u> .	Market
	. D. J. J. O. O	Cost	Value
	Air Products & Chemicals	4,557 60 99,642 73	10,060 20 112,204 00
	Apple Bar Harbor Bankshares	57,098 58	71,982 00
	Baxter International	50,370 00	52,162 50
	Blackrock Enhanced Equity Dividend	57,098 58	63,496 18
	Caterpillar	22,241 20	22,702 50
860	Chevron	82,393 00	107,422 60
1240	Coca Cola	45,706 40	51,224 40
	Colgate Palmolive	60,683 00	84,773 00
	Cree Inc	22,924 00	25,008 00
	CVS Caremark	15,224 32	22,401 41 276 24
	Durect TV Duff & Phelps Global Utility	201 66 68,180 00	76,320 00
	Duke Energy	43,280 01	45,960 66
	EV Tax Managed Buy Write Opps	21,334 42	28,020 00
	Edwards Lifesciences	23,073 75	16,440 00
	First Bancorp	81,275 00	87,100 00
1000	First Trust MLP & Energy Income	21,269 55	20,010 00
800	Gilead Sciences	12,329 20	60,080 00
	Google	53,600 25	84,053 25
981 499	Growth Fund of America	31,793 26	41,949 27
	Hershey	36,705 00	48,615 00
	Ishares Russell 2000	58,544 50	80,752 00
	Madison Strategic Sector Premium	45,946 40	49,820 40
	Netflix	13,520 00	14,726 80
	Nisource	14,952 00	19,728 00 44,107 20
_	Pfizer Pwr shares QQQ	36,410 40 24,351 66	35,184 00
	Regions Financial Corp	24,850 00	34,615 00
	Safeway	25,079 20	32,570 00
	Sector SPDR Tr Technology	95,221 50	117,942 00
	Southern Company	44,008 40	41,110 00
1000	Suntrust Banks	26,132 75	36,810 00
160	Target	5,262 40	10,123 20
350	UPS	26,132 75	36,778 00
	Visa	35,960 70	44,536 00
	Whole Foods	68,103 75	86,745 00
80	Xylem	2,121 20	2,768 00
	Total US Equities	1,457,579 12	1,820,576 81
7842 54	Henderson Global Equity Income	58,625 63	65,877 34
1500	Ishares MSCI EAFE	87,073 00	100,642 50
	Ishares MSCI Emerging Mkts	30,689 10	31,346 25
2432 678	RS Invt Tr Emerging Mkts	56,261 50	47,047 99
	Total International Equities	232,649 23	244,914 08
8195 912	Loomis Sayes Inv Gr Bond	109,660 28	97,449 39
	BMW Bk North America Salt Lake 3 55%	31,169 55	30,350 70
1000	Barclay's Bk Del Retail 3 15%	51,886 00	50,902 50
500	Barclay's Bk Del Retail 2 65%	51,829 80	51,232 50
	Doral Bk Catano PR 2 7%	103,868 50	102,870 00
	CIT Bk Salt Lake City 1 65%	100,074 00	102,267 00
	Goldman Sachs Bk 1 3%	100,149 58	100,594 00
	Discover Bk 1 25%	50,054 10	50,352 00
	GE Mny Bk 3 0%	79,524 83	78,692 25
500	GE Cap Finl	50,800 95	50,927 50
	Total Fixed Income	729,017 59	715,637 84
2500	AGIC Equity and Convertible Income	41,975 00	48,800 00
500	Health Care Reit	34,234 60	26,785 00
	Total Mixed Assets	76,209 60	75,585 00
		_	
	Total Securities	2,495,455 54	2,856,713 73
	Cash	52,595 92	52,595 92
	Total Account	2,548,051 46	2,909,309 65



RBC Wealth Management

#### **ACCOUNT STATEMENT 2013 ANNUAL STATEMENT RBC TOTAL PORTFOLIO**

Account number: 315-01500 Page 95 of 101

TAXES WITHHELD (continued)

DATE

TOTAL TAXES WITHHELD 12/12/13 UNICHARM CORP

A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC. DESCRIPTION

-\$917.76

-\$1.61

AMOUNT COMMENTS

# **SCHEDULE OF REALIZED GAINS AND LOSSES**

53.000	3.000	4.000	23.000	47.000	6.000	47.000	76.000	6.000	6.000	189.000	95.000	9.000	60.000	6.000	52.000	38.000	Short Term	QUANTITY	Long-term	Short-term	Total Realized	
00 BROADRIDGE FINANCIAL SOLUTIONS INC	00 BLACKROCK INC	ľ	00 BIOMARIN PHARMACEUTICAL INC		ĺ	00 ARM HOLDINGS PLC SPONSORED ADR	00 ARM HOLDINGS PLC SPONSORED ADR	00 APPLE INC	00 APPLE INC	OO AMERICA MOVIL S A B DE C V SPONSORED ADR REPSTG SER L SHS	00 AIR LIQUIDE-ADR	00 AFFILIATED MANAGERS GROUP INC	00 AFFILIATED MANAGERS GROUP INC	00 AFFILIATED MANAGERS GROUP INC	00 AFC ENTERPRISES INC	00 ABBVIE INC		TY DESCRIPTION	-term	-term	Total Realized Gain or Loss	
BR	PÇ.	BLX.	BMRN	ATW	7	ARMH	ARMH	AAPL	AAPL	AMX	AIQUY	AMG	AMG	AMG	AFCE	ABBV		SYMBOL				
02/27/13	02/27/13	02/27/13	09/30/13	02/27/13	02/27/13	06/06/13	02/27/13	02/27/13	02/27/13	AMX 02/27/13	02/27/13	06/06/13	02/27/13	02/27/13	07/02/13	02/27/13		SYMBOL OPEN DATE				
1,214.71	723.81	965.08	1,662.83	2,434.13	215.15	1,928.88	3,325.76	2,688.66	2,688.66	3,955.58	2,327.50	1,458.99	8,788.20	878.82	1,913.55	1,392.70		NET COST				
11/13/13	10/31/13	04/05/13	11/04/13	04/16/13	08/27/13	06/20/13	06/24/13	04/17/13	03/05/13	03/18/13	09/17/13	08/22/13	08/22/13	03/07/13	12/17/13	06/18/13		CLOSE DATE	0.00	6,628.25	6,628.25	THIS YEAR
1,921.76	910.93	978.21	1,446.23	2,185.45	202.55	1,721.03	2,723.07	2,408.52	2,576.28	3,494.37	2,579.20	1,595.07	10,633.80	899.91	2,013.79	1,646.56		NET PROCEEDS	ı			
707.05 V	187.12 V	13.13 V	-216.60 V	-248.68 V	-12.60 V	-207.85 V	-602.69 V	-280.14	-112.38	-461.21 V	251.70 V	136.08 V	1,845.60 V	21.09 V	100.24 V	253.86 V		REALIZED GAIN/LOSS				

_	
=	=
=	=
=	_
=	=
=	=
-	=
_	_
=	=
=	=
=	7
-	_
Ξ	77
=	≕
_	_
_	_
_	_
=	-
=	
_	_
	Ξ
=	_
=	
_	
=	Ë
=	=
-	
_	-
-	_
=	
_	
_	_
-	
-	
=	
-	
-	
_	_

16.000	36.000	22.000	12.000	22.000	. 75.000	21.000	17.000	10.000	29.000	23.000	15.000	28.000	40.000	83.000	32.000	31.000	33.000	9.000	16.000	24.000	12.000	48.000	31.000	32.000	34.000	30.000	22.000	47.000	Short Term	QUANTITY
EBAY INC	EBAY INC	EBAY INC	EATON CORPORATION PLC	DXP ENTERPRISES INC-NEW	DARLING INTERNATIONAL INC	CVS CAREMARK CORPORATION	CUMMINS INC	CORNERSTONE ONDEMAND INC	CORNERSTONE ONDEMAND INC	CONTINENTAL RESOURCES INC	CONTINENTAL RESOURCES INC	CONNS INC	COLUMBIA SPORTSWEAR CO	COLUMBIA SPORTSWEAR CO	COLUMBIA SPORTSWEAR CO	COLUMBIA SPORTSWEAR CO	CHICAGO BRIDGE & IRON CO NV	CENTENE CORP DEL	CBOE HOLDINGS INC	CBOE HOLDINGS INC	CATAMARAN CORP COM	CATAMARAN CORP COM	CATAMARAN CORP	CATAMARAN CORP	CATAMARAN CORP	CABELAS INC	CABELAS INC	BROADRIDGE FINANCIAL SOLUTIONS INC		DESCRIPTION
EBAY	EBAY	EBAY	ETN	DXPE	DAR	C/S	CMI	CSOD	CSOD	CLR	CLR	CONN	COLM	COLM	COLM	COLM	CBI	CNC	CBOE	CBOE	CTRX	CTRX	CTRX	CTRX	CTRX	CAB	САВ	8R		SYMBOL
02/27/13	02/27/13	02/27/13	02/27/13	03/07/13	02/27/13	02/27/13	02/27/13	08/14/13	08/09/13	02/27/13	02/27/13	07/30/13	06/06/13	02/27/13	02/27/13	02/27/13	03/07/13	02/27/13	08/09/13	07/24/13	06/27/13	02/27/13	02/27/13	02/27/13	02/27/13	06/19/13	06/19/13	02/27/13		OPEN DATE
871.67	1,961.25	1,198.54	742.32	1,537.80	1,256.93	1,073.91	1,979.31	528.40	1,513.74	1,932.46	1,260.30	1,784.30	2,416.40	4,667.09	1,799.36	1,743.13	1,843.00	406.52	781.44	1,192.53	594.96	2,668.80	1,723.60	1,779.20	1,890.40	2,076.84	1,523.01	1,077.19		NET COST
07/02/13	03/28/13	03/19/13	10/31/13	05/23/13	03/07/13	03/07/13	04/16/13	11/04/13	11/04/13	11/08/13	06/04/13	09/09/13	08/07/13	08/07/13	07/10/13	03/07/13	12/31/13	03/07/13	09/18/13	09/18/13	07/02/13	07/02/13	05/15/13	05/07/13	03/19/13	10/04/13	09/06/13	12/13/13		CLOSE DATE
849.75	1,945.06	1,118.89	852.96	1,275.63	1,258.47	1,089.03	1,890.01	459.39	1,332.23	2,600.10	1,234.17	1,481.25	2,479.36	5,144.69	2,044.65	1,729.76	2,735.76	423.89	726.44	1,089.68	574.08	2,296.33	1,650.77	1,669.78	1,727.87	1,848.92	1,389.56	1,813.40		NET PROCEEDS
-21.92 V	-16.19 V	-79.65 V	110.64 V	-262.17 V	1.54 V	15.12 V	-89.30 V	-69.01 V	-181.51 V	667.64 V	-26.13 V	-303.05 V	62.96 V	477.60 V	245.29 V	-13.37 V	892.76 V	17.37 V	-55.00 V	-102.85 V	-20.88 V	-372.47 V	-72.83 V	-109.42 V	~162.53 V	-227.92 V	-133.45 V	736.21 V		REALIZED GAIN/LOSS

A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

## 

#### RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 97 of 101

2.000 INTUITIVE SURGICAL INC	3.000 INTUITIVE SURGICAL INC COM	9.000 INTUITIVE SURGICAL INC COM	5.000 INTUITIVE SURGICAL INC COM	5.000 INTERNATIONAL BUSINESS MACHINES CORP	26,000 INTERNATIONAL BUSINESS MACHINES CORP	23.000 IDEXX LABORATORIES CORP	11.000 HSBC HOLDINGS PLC SPONSORED ADR	56,000 HSBC HOLDINGS PLC SPONSORED ADR	57.000 GARTNER INC	65.000 FRESH MARKET INC	105.000 FRESENIUS MEDICAL CARE AG & CO KGAA SPONSORED ADR	6.000 FLOWSERVE CORP	40.000 FLEETMATICS GROUP PLC COM	29.000 FINANCIAL ENGINES INC	22.000 FIDELITY NATIONAL INFORMATION SERVICES INC	21.000 FASTENAL CO	50.000 FASTENAL CO	63.000 FASTENAL CO	77.000 FACEBOOK INC	74.000 EMERSON ELECTRIC CO	28.000 EDWARDS LIFESCIENCES CORP	31.000 EDWARDS LIFESCIENCES CORP	18.000 EBAY INC	54.000 EBAY INC	Short Term	QUANTITY DESCRIPTION
ISRG	ISRG	ISRG	ISRG	IBM	IBM	IDXX	HSBC	HSBC	7	TFM	FMS	FLS	FLTX	FNGN	FIS	FAST	FAST	FAST	FB	EMR	EW.	EW	EBAY	EBAY	5	SYMBOL
06/19/13	05/07/13	02/27/13	02/27/13	06/06/13	02/27/13	02/27/13	06/06/13	02/27/13	02/27/13	02/27/13	02/27/13	02/27/13	09/03/13	02/27/13	02/27/13	06/06/13	02/27/13	02/27/13	02/27/13	02/27/13	02/27/13	02/27/13	06/06/13	02/27/13		SYMBOL OPEN DATE
1,019.62	1,475.46	5,189.31	2,882.95	1,016.25	5,266.56	2,140.15	599.83	3,096.72	2,820.35	3,065.40	3,631.94	955.49	2,009.22	952.94	831.16	994.56	2,628.92	3,312.45	2,078.99	4,246.86	2,423.68	2,683.36	920.52	2,941.88		NET COST
07/10/13	05/15/13	07/10/13	03/19/13	09/06/13	09/06/13	04/29/13	06/10/13	06/10/13	08/06/13	03/07/13	10/10/13	03/07/13	09/23/13	10/08/13	06/18/13	06/19/13	06/19/13	04/30/13	03/19/13	04/22/13	04/12/13	03/01/13	06/20/13	08/23/13		CLOSE DATE
840.17	1,454.33	3,780.79	2,391.34	916.83	4,767.53	2,038.21	600.59	3,057.59	3,311.07	2,548.82	3,327.90	983.97	1,523.97	1,592.68	973.10	978.82	2,330.51	3,071.34	2,038.91	3,991.51	2,369.38	2,656.64	913.12	2,783.14		NET PROCEEDS
-179.45 V	-21.13 V	-1,408.52 V	-491.61 V	-99.42 V	-499.03 V	-101.94 V	0.76 V	-39.13 V	490.72 V	-516.58 V	-304.04 V	28.48 V	-485.25 V	639.74 V	141.94 V	-15.74 V	-298.41 V	-241.11 V	-40.08 V	-255.35 V	-54.30 V	-26.72 V	-7.40 V	-158.74 V		REALIZED GAIN/LOSS

ž		
	Ē	
Ē		
į		
		-

### ACCOUNT STATEMENT 2013 ANNUAL STATEMENT **RBC TOTAL PORTFOLIO**

A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

109.000 SAFEWAY INC	9.000 SAFEWAY INC	76.000 SAFEWAY INC	15.000 ROYAL DUTCH SHELL PLC SPONSORED ADR REPSTG A SHS	70.000 ROYAL DUTCH SHELL PLC SPONSORED ADR REPSTG A SHS	40.000 ROADRUNNER TRANSPORTATION SYSTEMS INC	4.000 ROADRUNNER TRANSPORTATION SYSTEMS INC	19.000 ROADRUNNER TRANSPORTATION SYSTEMS INC	33.000 ROADRUNNER TRANSPORTATION SYSTEMS INC	5.000 ROADRUNNER TRANSPORTATION SYSTEMS INC	58.000 ROADRUNNER TRANSPORTATION SYSTEMS INC	34.000 QUALCOMM INC	12.000 PRICE T ROWE GROUP INC	23.000 PRICE T ROWE GROUP INC	24.000 PRICE T ROWE GROUP INC	33.000 PRICE T ROWE GROUP INC	21.000 POTASH CORP OF SASKATCHEWAN INC CANADIAN LISTED	115.000 POTASH CORP OF SASKATCHEWAN INC CANADIAN LISTED	12.000 POLARIS INDUSTRIES INC	18.000 PENTAIR LTD SHS	84.000 PACCAR INC	34.000 OGE ENERGY CORP	31.000 OGE ENERGY CORP	1		16.000 NORDSON CORP	46.000 NORDSON CORP	Short Term	QUANTITY DESCRIPTION
SWY 02/27/13	SWY 02/27/13	SWY 02/27/13	RDSA 06/06/13	RDSA 02/27/13	RRTS 06/12/13	RRTS 06/06/13	RRTS 06/06/13	RRTS 05/29/13	RRTS 05/29/13	RRTS 05/15/13	QCOM 02/27/13	TROW 06/06/13	TROW 02/27/13	TROW 02/27/13	TROW 02/27/13	POT 06/06/13	POT 02/27/13	PII 02/27/13	PNR 02/27/13	PCAR 02/27/13	OGE 02/27/13	OGE 02/27/13	NDSN 06/06/13	NDSN 02/27/13	NDSN 02/27/13	NDSN 02/27/13		SYMBOL OPEN DATE
2,589.68 09/25/13	213.83 09/19/13	1,805.65 04/02/13	981.15 06/18/13	4,591.30 06/18/13	1,117.57 11/08/13	107.24 11/08/13	509.39 11/04/13	913.77 11/04/13	138.45 10/14/13	1,580.62 10/14/13	2,244.31 05/22/13	882.84 09/11/13		1,723.92 08/28/13	2,370.39 05/09/13	867.51 09/23/13	4,585.91 09/23/13	1,042.92 03/07/13	951.09 03/07/13		989.40 11/13/13	1,804.20 04/02/13	618.12 11/01/13	2,880.36 11/01/13	1,024.13 08/07/13	2,944.37 07/29/13		NET COST CLOSE
3,486.92	281.52	1,947.18	990.45	4,622.09	973.26	97.32	497.60	864.25	134.64	1,561.92	2,223.25	855.94	1,640.56	1,696.36	2,458.11	676.48	3,704.57	1,068.45	930.57	4,040.63	1,280.74	2,188.45	646.60	3,233.06	1,157.81	3,252.81		PROCEEDS
897.24 V	67.69 V	141.53 V	9.30 V	30.79 V	-144.31 V	-9.92 V	-11.79 V	-49.52 V	-3.81 V	-18.70 V	-21.06	-26.90 V	-11.53 V	-27.56 V	87.72 V	-191.03 V	-881.34 V	25.53 V	-20.52 V	42.23 V	291.34 V	384.25 V	28.48 V	352.70 V	133.68 V	308.44 V		REALIZED GAIN/LOSS

ROBERT B GREGORY TTEE
RUTH J JONES CHARITABLE TRUST

39	97	77	. 34	4	7	1	80	13	17		43	15	52	126	21	97	25	27	73	23	195	132	61	6	8	6	2	10	23	26	60	Short Term	QUAR
39.000	97.000	77.000	34.000	4.000	7.000	3.000	80.000	13.000	17.000	1.000	43.000	15.000	52.000	126.000	21.000	97.000	25.000	27.000	73.000	23.000	95.000	32.000	61.000	6.000	8.000	6.000	2.000	10.000	23.000	26.000	60.000		QUANTITY
TRIMBLE NAVIGATION LTD	TRIMBLE NAVIGATION LTD	TRIMBLE NAVIGATION LTD	TRIMBLE NAVIGATION LTD	TRANSDIGM GROUP INCORPORATED	TRANSDIGM GROUP INCORPORATED	TRANSDIGM GROUP INCORPORATED	TIMKEN CO	TIMKEN CO	TIME WARNER CABLE INC	TIDEWATER INC	THOR INDUSTRIES INC	THOR INDUSTRIES INC	TEXTURA CORP	SWATCH GROUP AG (THE) UNSPONSORED ADR	STERICYCLE INC	SONOVA HOLDING AG UNSPONSORED ADR	SOLARWINDS INC	SOLARWINDS INC	SOLARWINDS INC	SOLARWINDS INC	SMITHFIELD FOODS INC	SMITHFIELD FOODS INC	SMITHFIELD FOODS INC	SHERWIN WILLIAMS CO	SHERWIN WILLIAMS CO	SHERWIN WILLIAMS CO	SHERWIN WILLIAMS CO	SHERWIN WILLIAMS CO	SBA COMMUNICATIONS CORP	SBA COMMUNICATIONS CORP	SALESFORCE.COM INC		DESCRIPTION
TRMB	TRMB	TRMB	TRMB	TDG	TDG	TDG	TKR	TKR	TWC	TDW	ОНТ	THO	TXTR	SWGAY	SRCL	SONVY	IWS	IWS	SWI	IWS	832248108	832248108	832248108	WHS	WHS	WHS	WHS	WHS	SBAC	SBAC	CRM		SYMBOL
06/06/13	02/27/13	02/27/13	02/27/13	06/06/13	02/27/13	02/27/13	02/27/13	02/27/13	02/27/13	07/10/13	02/27/13	02/27/13	10/10/13	02/27/13	02/27/13	02/27/13	06/06/13	03/19/13	02/27/13	02/27/13	02/27/13	02/27/13	02/27/13	06/06/13	05/09/13	04/29/13	03/28/13	03/28/13	02/27/13	02/27/13	02/27/13		SYMBOL OPEN DATE
1,039.74	2,881.77	2,287.59	1,010.11	598.36	1,000.65	1,858.35	4,386.20	712.76	1,498.72	58.69	1,631.76	569.22	2,099.38	3,534.30	2,016.38	2,333.82	1,021.50	1,567.62	4,079.10	1,285.19	4,387.50	2,970.00	1,372.50	1,087.02	1,508.00	1,091.94	336.72	1,683.60	1,630.47	1,843.14	2,514.00		NET COST
06/12/13	06/27/13	06/19/13	04/05/13	09/30/13	09/30/13	09/03/13	05/10/13	03/07/13	11/21/13	08/07/13	07/29/13	03/07/13	12/27/13	03/11/13	05/31/13	05/13/13	06/12/13	06/20/13	06/25/13	06/24/13	06/06/13	05/30/13	03/07/13	08/20/13	08/20/13	08/20/13	08/20/13	08/14/13	10/14/13	09/06/13	06/06/13		CLOSE
1,018.31	2,515.26	2,038.43	969.99	559.39	978.93	1,802.28	4,543.77	734.74	2,062.23	56.59	2,297.58	578.08	1,559.46	3,578.31	2,317.51	2,093.57	987.98	1,083.02	2,798.11	883.18	6,409.59	4,348.00	1,507.27	1,026.95	1,369.27	1,026.95	342.31	1,709.77	1,830.99	1,979.89	2,275.88		NET PROCEEDS
-21.43 V	-366.51 V	-249.16 V	-40.12 V	-38.97 V	-21.72 V	-56.07 V	157.57 V	21.98 V	563.51 V	-2.10 V	665.82 V	8.86 V	-539.92 V	44.01 V	301.13 V	-240.25 V	-33.52 V	-484,60 V	-1,280.99 V	-402.01 V	2,022.09 V	1,378.00 V	134.77 V	-60.07 V	-138.73 V	-64.99 V	5.59 V	26.17 V	200.52 V	136.75 V	-238.12 V		REALIZED GAIN/LOSS



A division of RBC Capital Markets, LLC, Member NYSE/FINRA/SIPC.

## **RBC Wealth Management**

# RBC TOTAL PORTFOLIO ACCOUNT STATEMENT 2013 ANNUAL STATEMENT

Account number: 315-01500 Page 101 of 101

Short Term **TOTAL REALIZED GAIN OR LOSS Short Term Subtotal** QUANTITY 49.000 99.000 54.000 24.000 36.000 12.000 18.000 56.000 31.000 15.000 YUM BRANDS INC 3.000 42.000 13.000 7.000 7.000 7.000 2.000 2.000 8.000 3.000 3.000 4.000 WHIRLPOOL CORP WESTERN UNION CO VALMONT INDUSTRIES INC VALMONT INDUSTRIES INC VALMONT INDUSTRIES INC VALMONT INDUSTRIES INC VALMONT INDUSTRIES INC URS CORPORATION ULTIMATE SOFTWARE GROUP INC ULTIMATE SOFTWARE GROUP INC ULTIMATE SOFTWARE GROUP INC ULTIMATE SOFTWARE GROUP INC TRINITY INDUSTRIES INC TRINITY INDUSTRIES INC YUM BRANDS INC VALMONT INDUSTRIES INC TRINITY INDUSTRIES INC YUM BRANDS INC YANDEX N V XINYI GLASS HOLDINGS LTD VF CORPORATION **VALMONT INDUSTRIES INC** CLASS A UNSPONSORED ADR DESCRIPTION SYMBOL OPEN DATE X X YNDX MUY TRN MOX ≦ ≦ Z Ž ≦ M URS ⋛ 쉬 ≦ ≦ ≦ 05/07/13 02/27/13 02/27/13 02/27/13 02/27/13 02/27/13 04/22/13 02/27/13 04/16/13 04/16/13 03/07/13 03/05/13 02/27/13 06/06/13 05/31/13 02/27/13 02/27/13 02/27/13 02/27/13 02/27/13 06/06/13 06/06/13 10/14/13 2,438.10 3,539.69 4,310.21 **NET COST** 1,573.20 1,878.07 2,036.84 1,349.66 1,054.35 1,281.60 1,286.72 ,064.77 1,781.64 1,183.92 1,775.88 ,019.62 452.64 223.80 512.12 427.50 480.36 480.93 829.30 285.00 09/24/13 03/07/13 08/09/13 07/26/13 07/26/13 07/26/13 07/18/13 07/18/13 07/18/13 07/18/13 03/07/13 10/10/13 10/10/13 10/10/13 04/24/13 09/11/13 04/25/13 12/09/13 12/02/13 12/31/13 12/09/13 10/31/13 12/02/13 CLOSE NET PROCEEDS 3,056.99 1,386.66 4,116.01 4,008.36 1,829.89 1,695.81 1,670.53 1,113.43 1,967.85 1,932.15 1,875.56 1,034.49 ,588.13 445.88 445.88 282.63 518.38 997.41 997.41 445.88 565.27 284.97 6,628.25 6,628.25 REALIZED GAIN/LOSS -194.20 V -104.69 V -105.35 V 511.89 V 618.89 V 37.00 V 468.67 V 302.36 V 402.15 V 205.19 V 301.41 V -22.21 V -67.36 V -34.48 V -35.05 V 112.63 V 18.38 V 48.25 V 58.83 V 89.78 V 59.08 V -0.03 V 6.26 V

V - Cost basis for this tax lot was determined by specific lot identification methodology, based on instructions you provided or by your standing orders on file at the time of the trade.

#### • THE RUTH J JONES CHARITABLE FOUNDATION RBC ACCOUNT 71790

The Ruth Jones Charitable Foundation El# 30-0097675 RBC Account 71790 Form 990PF page 3, Part IV

Capital Gains/Losses

Ougatity	Socurity	Proceeds	Cost	Gain/Loss
•	Security			
	Cardinal Health	10,688	9,749	939
	Dreyfus GNMA Fund	165,120	•	•
	Hartford Financial	1,958	1,790	168
40	ITT	1,036	911	125
9000	Pfizer	243,368	227,565	15,803
1000	State Street	57,219	46,020	11,199
180	US Bancorp	6,120	4,888	1,232
140	BP PLC	5,862	7,469	-1,607
500	Baxter International	34,020	33,580	440
116	Carefusion	3,785	3,341	444
80	Exelis	862	922	-60
3162	Loomis Sayles Investment Grade	40,000	39,842	158
6	Washington Mutual Inv	202	143	59
30	Wal-Mart	2,060	2,061	-1
1000	GE Money Bk Draper UT 1.7%	101,527	104,779	-3,252
1000	Capmark Bk 4.5%	102,057	101,697	360
600	CIT Bk Salt Lake Cty 3.25%	60,811	60,893	-82
	First Business Kk Madison 2 5%	76,816	77,313	-497
1000	Discover Bk 1.3%	100,554	100,043	511
1000	Capital One Bk 4.55%	100,000	101,486	-1,486
	General Motors	36,851	26,962	•
		,	,_	.,
		1,150,916	1,117,743	33,173